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INSTRUCTIONS TO CANDIDATES
Please check the Test Booklet immediately on
opening and ensure that it contains all the 150
multiple choice questions printed on it.

Separate Optical Mark Reader (OMR) Answer Sheet
is supplied to you. The OMR Answer Sheet contains
boxes for filling Hall Ticket Number, Booklet
Number, Venue Code, Signature of the Candidate
and Invigilator. Fill the boxes with Blue/Black ball
point pen only.

if there is any defect in the Question Paper Booklet
or OMR Answer Sheet, please ask the invigilator for
replacement immediately.

. Since the answer sheets are to be scanned (valued)

with Optical Mark Scanner system, the candidates
nave to USE BALL POINT PEN (BLUE/BLACK) ONLY for
darkening the circlés in the OMR Sheet including
bubbling the answers. Bubbling with Pencil/Ink Pen/
Gel Pen is not permitted in the examination.

The Test Booklet number is printed on right comer
of the cover page of the Test Booklet. Mark your Test
Booklet number on side 1 of the OMR Answer Sheet
by darkening the appropriate circles with Blue/Black
ball point pen.

Example to fill up the Test Booklet Number :

If your Test Booklet number is “102365’, please fill as

shown below :
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If you have not darkened the Test Booklet number
at side 1 of the OMR Answer Sheet your Answer
Sheet will be invalidated without any further
notice. If it is darkened in a way that it leads to
discrepancy in determining the exact Test Booklet
number, then it may lead to wrong résulit/rejection
of the Answer Sheet and candidate himself/herself
will be responsible for the same.

Each question is followed by 4 answer ¢hoices. Of
these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the
appropriate circle for the question. If more than one
circle is darkened, that answer will not be valued at
all. Use Blue/Black Ball point pen to fill the circle
completely. Make no other stray marks.

e.g. : If the answer for Question No. 1'is Answer
choice (2), it should be marked as follows:
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1.

Match the following UN Secretary Generals & 2

(present/past)with their respective countries :
Secretary General Country

A. Javier Perez de 1. Egypt

Cuellar

B. Boutros-Boutros Ghali 2. Portugal

C. Kofi Annan 3. South Korez
D. Ban Ki-Moon 4. Peru
E. Antonio Guterres 5. Ghana

6. France

& 80b o¥oredd BLE a¥8s o

(%08 /K& )aB Baeord® 238585H%m :
B0 58S d¥o
A. BDHEITELBEE 1. &=
B. 20&°0-a08°% 9 2. PGS
c:.r &%) 058 3. 58050
D. 205858 4, P

E. ootPd@r rHesh 5. Sowr

Choose the correct answer :

$B5RT 200 HE DR :

o(1) A-2;B-4;C-1;D-3; E-6 ~ —
(2) A-6; B-5; C-4; D-1; E-2 : El?ﬁ:
@ A-4; B-1; C-5; D-3; E-2 -

(4) A-2;B-1;C-3; D-5; E-4

Match the following UN Conventions with their

respective subjects :

Convention

A. Convention on the 1.

Prevention and
Punishment of the

Crime of Genocide.

B. Convention on the 2.
Reduction of
Statelessness.

C. Convention on the 3.

Continental Shelf.

- D. Convention on Cluster 4.

Munitions.

X

Subject
Law of the Seas

Disarmament

Human Rights

Health &
Environment

Refugees

& Bob wEgoresy BB EIWIN0 TP Dowohd

DHCre8® 2 8585H5E ;
SUS

A. =85S I8 1.
Nardee, 850
EIRS.

B. oraglorddse 2.
SROBEOP ERSSS.

C. powSoopEIRS. 3.

D. ®@amgdHpp 4.
<3558,

Choose the correct answer :
00 a0 o8 osw:

(1) A-3;B-2; C-5; D-4
(2) A-5;B-3;C-4;D-2
(3) A-4;B-2; C-5; D-1
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What is the implication for India of ratifying the | 5. Arrange the following States based on highest to
| *Additional Protocol’ with the International lowest death toll recorded on account of
Atomic Energy Agency (IAEA) ? Thunderstorms and Lightening events in 2021 :
(1) India gets permission to import nuclear A. Bihar B. Madhya Pradesh C. Odisha
_ weapons technology from nuclear weapon D. West Bengal E. Ra]fisthanu#
-J. countries. 20216° aHdwven, e Dede Bmore
(2) The Indian civilian nuclear power JIrgd Do Jowy sErdore & Bob TrgPoi
establishments come under [AEA wE050 508 ve)os wBt)w:
safeguards.
(3) India gets access to nuclear technology e f}:ﬁﬁ B. soggedd  C.efer
trade with the Nuclear Supplier Group D. $8%Bormd E. ooads
countries, Choose the correct answer :
(4) India gets access to import of uranium from 8 esareniy otHE S :
the Nuclear Supplier Group countries. A E,CB,D *(2) B,A,D,E,C
@08 v 206 Jo% (IAEA) & grésddo (3) C,B,AD,E 4) D,B,C,E A
oy , .- 6. India - recorded the highest number of Tiger
88 @Efayﬁﬁa WInbeee By whgen deaths in 2021. Consider the following in
OSBRSS e ? relation to this :
A. Atotal of 127 Tigers died.
@ ool Beoiol emscing FoSBEED B. Gujarat ranks first in this fatality.
BIHHS BHESEDE B8R eN8 w8 C. Madhya Pradesh ranks first in this fatality.
D508 D. Maharashtra and Karnataka occupy second
= and third position respectively.
(2) ar88 FE om LS Jogen DA Choose the correct answer :
(1) B&Donly (2) A,B& Donly
| S08EnB0RSE Snow. (3) A,C&Donly (4) A &B only
(3) XmsBoHb HPAHB (TrD Beres® rEEtars gPEEE 06" 20215° edhiE Sorss® Heve Soderen
g &0 oS8 Freiaryd8 oo FothHob. Sargron. 828 $o00H0od € 80d B H0KB0HHD
@) $»80%6 PHE D Deew ol A. oo 127 Heven sH¥doTrow.
OSBRI awBado BHHBE oo B. & H¥crod’ Hamed 3068 PHod” 6ob.
ZeniHEHod. - C. & Dered® i RS 3oiss o SarRod.
D. Hforg, ST S0l Soth, S
4. Which of the following are considered as the Pros® amaw.
e a s Ayl ot
. Gulf of Mannar . Gulf of Trombe
C. Lakshadweep D. Gulf of Kachchh ) B () A,B&DIrED
Choose the correct answer : @ A, C&DEPEd (4) A&BSpED
(1) B,C&Donly (2) A,B&Conly 7. “Talanoa Dialogue” is related to 3 .
(3) A,B&D only (4) A,C&D only (D) E‘he'd“{};ﬂ t:iks on finding origins of
: ¥ 5 ovid-19 pandemic
& Bob 8 2D PIIBLDH B HrLH0R, (2) The UN falks on debt relief to the Least

@rogrenr HBKBoSataran ?
A KEeSHmE B, K6)ederod

Developed Countries
(3) The UN Climate Change Talks
(4) The G-20 countries talks on technology transfer

C. ofhS D. K&ys55S “Soe Berh” BO8 S0o0BODTH:
BB P oHE S ; (1) $96-19 Sirsrmd Heps 308883
(1) B,C&D$rgd Seages. 3PS, 2. )0
(2) A,B & Csmgd ELE v (2) 8595 @ﬁ]ﬁa@ 3088 Toce e 508D
(3) A,B & D Srgd 07 0¥ TP23008 S8 e

@ earHtes Srtn)a 0¥sTradhd S8 e
(4) FoSBE Hoepso SrB)AD 2-20Tere S

(@) A caDsrEd

h- L ERERE RS | Wt ] g TR L N e fe] P L Emerb W ek o sl
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Match the following Cyclones of 2021 with their .
intensity :

Cyclone . Intensity

A. GULAB 1. Very Severe Cyclonic
Storm

B. YAAS 2. Severe Cyclonic Storm

C. TAUKTAE 3. Cyclonic Storm

D. SHAHEEN 4. Lowest Cyclonic
Storm .

5. Extremely Severe

Cyclonic Storm
20216° $oFDoDS & Bod HardeodH -8

5808 28585H5m:

Hrden 85
A Heod 1. o385 pEE HFS
B. &% 2. 8% DEIE HPH
C. &% 3. S5 &Hyis
D. %S 4., ©f $&nS JEE H Y

5. 88 @@ DEEDE P

Choose the correct answer :
085 25z HotHE vm:

A-3;B-1; C-5;D-2 (2) A-5;B-2; C-4; D-3
A-2; B-5; C-4; D-1 (4) A-4;B-3; C-1; D-2

Match the following Corona Virus variants with
their originating country :

Variant Country of Origin
Alpha 1. Brazil .
Beta 2. ‘United States
Delta - 3 United Kingdom*
Gamma 4, India:

5. South Africa

% 80b 86%5 ?.3::5.-‘:3 Esror 09 8QG0DS Beres®
e3ei B naD:

SER 6o 858)D00% B¥o
A. wer) 1. @25
B. D 2. cnRBE )
C. Bep 3. ow3&& 8oh o
D. e 4, rBERE0

5. &8e e

Choose the correct answer :
RO 22aP20ND wothE Rosdn:

(1) A-5;B-4;C-2, D-3

A-3; B-5; C-4, D-1
(3) A-2; B-3; C-4,D-5
(4) A-5;B-4; C-1, D2

10.

i 11.

Consider the following in relation to the literacy

rate in India :

A. Literacy rate of India at the time of
independence in 1947 was 12%.

B. As per the 2011 Census the literacy rate in
India was 76%.

C. Compared to the adult literacy rate, youth
literacy rate was about 9% higher as per
2011 Census.

D. As per the 2011 Cansus literacy rate
among males was over 80%.

E. As per the 2011 Census, literacy rate
among females was 65.46%.

Choose the correct answer :

(1) B,D&E only (2) A,B&Conly

(3) A,B,C&Donly (4) A,C,D&E only

FEEB506° ©ETiS 36::%: SowoQod & Sob

TR HBneBotol:

A. 19476° FSoEo SDNHPD rB8RE ©Eoeds

Gt 12%.
B. 2011 exver Heposre HSP80 P88 @ETeNS Béw

76%.
C. 2011 axxpzr Herosre (SR80 SN ©Food

Bend® PO ciodesss wETKsE Bt 9% D5 S.

D. 2011 a23x°gr Kerosee (©5r80 IHHes® ook
Bén 80% o0& ERNN.

E. 2011 axegr Kerosee Hsedo Sotreges’ ©Eom98
3éw 65.46%.
Q0N 222D «)OHE R aD:
(1) B,D& Edrg@d (2) A,B & CEr@d
3) A,B,C & D;.'nn@_sﬁaa, C,D & Esrgdh

Women won a greater number of seats in the
following state legislative assemblies when
compared to other states (as on 31% December,
2021). Arrange them in descending order based
on the number of seats women occupy in the

respective assemblies :
A. West Bengal B. Bihar C. Jharkhand

D. Chhattisgarh  E. Rajasthan
288 Toares” PEOySHH (318300t 2021 H8) &

808 Togre FSSIHeS” SHrten IS Sowgs® bey
Rl Komeys. 500088 ©0Des® Kirgen RoniHitxdy
Do Sowy esprdor @Bt e Eos® et ykm:

A. $8Borrd B. &6  C. erfol

D. $88%8 E. ooads

Choose the correct answer:

0 e3aranid DoHEKosw:
A;C;B;D;E (2)
C;A;D;B;E 4)

D;: A: C; E;
B;D; A E;

B
P


8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


12.

13.

14.

Which of the following Prime Ministers
appointed Mandal Commission and taken
decision to implement its report ?

(1) Indira Gandhi and Rajiv Gandhi

(2) Chandra Sekhar and Deve Gowda

(3) Morarji Desai and Viswanath Pratap Singh
(4) Indira Gandhi and Viswanath Pratap Singh
& 80B Frddoghed® Hokd EdHd

N0 D0B,wrR BRFE een HEDOH LT
(1) moboerob); ovdS o

(2) Sousdeb; BIAE
@ FooeQ BEedd; s Weed doh

L@ modoe rol; ¥k ©HEes doh

The ‘Make in India’ effort of Indian Railways

has culminated into India's :

(1) First high speed train Rajdhani Express

(2) First semi high speed train Vande Bharat
Express

(3) First high speed train Shatabdi Express

(4) First semi high speed train Gatimaan
Express

E.Fﬁ@cﬁﬁ: gge oot Tnt (ol Sasrb’ (BE a8

B0805e) Ky% Sreorr DErOS PESRYEH ©odd
a0
(1) ooaped J8) BB, BotyBoist 36 S

() S0Bems8 35BS, ToeToes 2o 2R Beo

(3) #6895, BR, BotyB0ese3 ZrRyE Sew
(4) " KBRS D) PR, Botgdntsed Dab 3RS Gen

As per the NITI Aayog’s Health Index Round IV
2019-20, which of the following states emerged
as the best three performers in terms of overall
performance ?

(1) Kerala, Gujarat, Karnataka

(2) Gujarat, Madhya Pradesh and Uttar Pradesh
(3) Kerala, Tamil Nadu and Telangana

(4) Kerala, Karnataka and Andhra Pradesh

% 80b 86" N8 s&rh S =0aE) Tok IV

2019-20 srdo 8l §5ve HAEG srrdore o
DB HEE0)0 N artd Togren D7
(1) B8¢%, Haoed, Somyes
(2) HuTeE, 208, 438HAS
85¢, SDFTD, Boorren

7+ (4) U, Sooyol, BoHnS

15.

16.

17.

v (3) oboden 2BARCH

/

The Union Budget for Financial Year 2022-23
aims to strengthen the infrastructure with its
focus on which of the following priorities 7

A. Inclusive Development
B, PM Gati Shakti

C. MGNREGP

D. Information and Communication
Technology (ICT)

Choose the correct answer :

(1) A &B only () A B,C&D
3) A,B&Conly (4 C&Donly
2022-23 § ©08 30585 Bogs ages & 8ob

@reeds ﬁDI’FEﬁE SI°O8 a’:cﬁaaﬁdﬁ:ﬂﬂ:&a 25 D80
Beired oFore ptH0 ?
A 3008 0D5)0 !;3.;‘?%
B. %.d0.58%8 =
C. do2Insbyadd(MGNREGP)
D. =308, 55ms08aS Bsyed (ICT)
N0 235720 QotHE Rosw:
(1) A&B&»ED »(2) AB,C&D
(3) A B&CIrSD (4) C&DImEad

According to the Global Wealth Report 2021, the
total wealth of India between 2000 and 2020 is :
(1) Increased three-fold

(2) Increased eight-fold

(3) Increased five-fold

(4) Decreased two-fold -

%505 SoBs F0E 2021 Hseso 2000 Hod 2020

Hoi5 SP008® Indo PPESBE J0HiS !

Sr8oden 28ACH (2) 2Adoden DOBACH
(4) Soloden &Rod
According to the Export Preparedness Index

2020, the following is NOT a part of the

Government of India’s schemes for the

promotion of exports :

(1) Merchandise Export Scheme

(2) Transport and Marketing Assistance Scheme
(3) Trade Infrastructure for Exports Scheme

_ Jmagy Goods Exports Scheme
DEJ G @8I 'auﬁﬁj 2020 Bsrdo DO

@EE‘J@D 50 g6 BeH8s0 BHBS Hfsres® ab

grifo 5oLh:

@ %0 (58088 ) drbHe BEo

2) e, Sr5B0R S Hisso

B) oo E6h Tl 8 KoFore
Fslal=Te

(4) @EENE SNYHe AdHdhe HiEso
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18.

Arrange the following major sources of India’s | 21.  Match the following Land classifications of
Foreign Direct Investment (FDI) during 2021-22 Moghul period with their attributed meanings :
from highest to lowest : Classification Meaning
A. United States of America A. Polaj "’ 1. Land that has left fallow
B. Mauritius for three or four years.
C. Singapore B. Parauti 2. Land uncultivated for
five years or more.
D. Netherlands
= = C. Chachar 3. Land left out of
M8 B Dipatoo (FDI) oroe &r68 G508 cultivation for a time for
2021-226° % 808 O Bore Lol wEHE Dol the recovery of its
50 $5Then SOTEP SRS §FEH): | strength. _
e Al D. Banjar 4. Highly  fertile  and
A, CFBE O) 8O w0 ~ irrigated land.
B. 57835 5. Land regularly cultivated
o _ and is never allowed to
C. Ror&rd Eﬁ% lie fallow.
D. 3ok = IniS oo T8 & 80d i SEEneD T8
Choose the correct answer : SieLlelal '@EE*’-“&E 238G
5B 223020 DoHE Koaw: et wgo
() A,B,D,C 2) D,B,A,C A e 1. S Sor Tedid Q0T
+ () B,ACD C,A,B,D Bréore DRSNS 2.
What is “Chahar Taslim” 2 B. $5°8 2. o Boo ©od¥od KD
(1) Itis a form of a dance. A DotHre FHRHR 4.
(2) It is a mode of salutation. C. o386 3. 9 o @,ﬁﬁ;ggm &80
(3) A book written l?y Abul Fazal, Sof o0  PHHEFSOT
(4) A poetry collection of Nur Jahan.
o6 $ho" ol D ? SOURGS 42D,
{1) 2 25 H‘ﬁﬁ& 5750 D. 2oxb 4. Kl #Eﬁhtﬂﬂ@ ErdsS o8
@) s0e85HIB 55 TRSIRRS :""’m'
2(4) KrEHS D50 BoHs i 4 '
i Choose the correct answer
$8 a0 HotHE Hw:

Which of the following sector(s) showed positive

growth in Real Gross Value-Added terms In A-5;B-3; C-1; D2 (2) A-3;B-1;C-4;D-2

, (3) A-2;B-5;C-4;D-1 (4) A-3; B4;C-5;D-2

2020-21 ?
(1) Mining and Quarrying Sector 22.  Which of the following were amongst the most
(2) Trade, Hotels, Transport, Communication important Mahajanapadas ?
and Services related to Broadcasting A. Nalanda B. Gandhara C. Kosala
(3) Manufacturing Sector D. Kuntala E. Panchala
(4) Agriculture, Forestry and Fishing Sector Choose the correct answer .

(1) B,C &E only
(3) A, C &E only

(2) A,B&Donly

& Bod a8 2020-2168° g Spe £8E Deod (4) B, C & D only

aprdore Jrdsre D)6 E58dS Boio /Borren & 80D B w08 Komd HFES Swreorr
D8/99? | AoBEI DD 7
(1) DoK,s°500word BoKo A. oot B. mrogd  C. &%
, (2) dup, Fot), Sarer, ES0N8HS, BIY D. $oe E. doore
B000l DHeD $8% aaranid Qo8 dodw:
(3) 8crd oo €1) B,C&Esr$d (2) A B&DIrED
S55Pah0, vbd), BHe a8)d Soro (3) A,C&E&rgd (4) B,C & D Smgd

b o
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8923917
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23.

24.

Which of the following are considered as part of
five major provincial centres of Ashokan Empire ?
A. Taxila B. Kamboja

C. Ujjayani D. Tosali

E. Suvarnagiri

Choose the correct answer :

(1) B,C,D&Eonly (2) A,B& Conly

(3) A,B,C&Donly (4) A,C,D&E only
% 806 86" 9D ¥ J;ErapEd® oid BN

Srodicdh Sogres® grrore $dKdoSataron ?

A, 85de B. wodte
C. d&zond D. &9
E. %$5R0

S8 2P DotHE !

(1) B, C, D & Esmgdb (2) A, B & C Srogd
(3) A, B, C & Db (4)A, C, D& E&m@d

Consider the following in relation to the Sun l
[

Temple of Konark :

A. Konark is a monumental representation of
the Sun God, Surya's Chariot.

B. Its 24 wheels are decorated with symbolic
designs. ,

C. The Chariot is led by a team of sixteen
horses.

D. It is considered to be built by King
Narashimhadev-I of the Ganga dynasty.

E. Itis decorated with reliefs of fantastic lions,
musicians and dancers.

Choose the correct answer :

() AC,D&Eonly (2) A,B,C&Donly

(3) A,B,C&Eonly (4) A,B,D&E only

%6 &°2 S8 Barechod® Sowofod & Sob

&R HdNedoBok :
A. &b g BHid Soetigd S5 I°8E DF°y0.

B. &3 24 dpren HésEE esydod LOR |

Q°)0W.
C. &y DEFH wEe E}‘)ﬂtﬁﬂ Eﬁﬁﬁ:@_ﬁ&é&ﬁ

850, |

D. 28 Hore oz $02°08 Bodd orer IS

SEOBSBID  IBoSa8She  HBKdos-
HEHED.

E. 80 3ore weoodln olEddd dodfe,
Hohdseten, ﬁgﬁ@ﬂ“ﬁaﬂﬁﬁ EmtHBd 650,

0N 235702050 oHE IR ;

(1) A,C,D&E&rE$SH(2) A, B, C & DSr@d

i(3) AB,C&ESrEH(4)A, B, D & Esrgd

25.

26.

As per the archaeological evidences, consider the
following in relation to Harappan Civilization :

A. The Harappans ate a wide range of plant
and animal products, including fish.

B. Grains found include wheat, barley, lentil,
chickpea and sesame.

C. Rice grains were found abundantly in all
the areas.

D. Animal bones found include cattle, sheep,
goat, buffalo and pig.

E. Bones of fish and fow! are also found.
Choose the correct answer :

() A,B,CCD&E (2) A ,B,D&Eonly
(3) A,B,C&Donly (4) B,C,D&E only
DTSR TRy [P8o  Sedary  aRbESDH

$02060D & 8od B HoRBoSR:!

A. 84S THeod® S5 ol Sso ke,
20 &8)HO 2HBOTE.

B. warps® i, b, D) Ssren, 30
85, RR)LED GRF)0W.

C. ® @groged® B g  JBIP
etlofTraw.

D. $&5ew, PGev, h¥ev, nden,
SoHeosnien ©2oTron.

E. 3%en, & ddnden rre 50000700,

$0S earad J0HEKodn:

(1) A,B,C,D&E (2)A,B,D & Es»gd

A.B.C&D5mEd (4)B, C, D & E $mgd

Who among the following argued that “Colonial
education created a sense of inferiority in the
minds of Indians, it made them see Western
Civilization as superior, and destroyed the pride,
Indians had in their own culture” ?

(1) Mahatma Gandhi

(2) Raja Rammohan Roy

(3) Womesh Chandra Bannerjee

(4) Mahatma Jothiba Phule

“Lodard s PB8eve HiSes® Srgbee

2Pard) $yRodod, griscine T8 SoB X

TRy adSo B, Poydy  ROESS

A5 BDHAT Srher Dhod” ©d & Bod 0

NG FHoTH?

(1) HSbaeymrod
T2s TPRI°53°R TP00 E}%

() ADRSoE B

(4) Sober, &8z HB
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27,

28.

Consider the following in relation to the

Khajuraho Group of Monuments :

A. The temples at Khajuraho were built during
the Shunga dynasty.

-B. These belong to two different religions —

Hinduism and Jainism.

C. These display the originality and high quality
of Nagara-style temple architecture.

D. These were built in sandstone, elevated from
environs by a highly ornate terraced platform.

E. The temples at Khajuraho were built during
the Chandella dynasty.

Choose the correct answer :

(1) B,C,D&Eonly (2) A,C&Donly

(3) A,B,C&Donly (4) B,Cé&Donly

DS Do Vo 88 BeryoH Soodoi) & 8od

P30 HBKeBoSod:

A. oS dorodirer HoX  orebod

o0 N8 0aoD.

29 2Py, B ©X Botdh 305 shared Bohsd.

C. 1 o5 T EOAS Sroe sech 8oy 39
B FPYIBSD EE6)Row.

w

D. ad Hhirde eooss rod Hobhes® &rd

285 3080 ah¥orons® 180808 To.
E. g8 &% Darodiren Soder oradod

sre06® 98,048 TP,
585 e DoHEED:

»(1) B,C,D&Esrgd (2) A, C&Dsrgd

(3) A,B,C&D&rga (4) B, C & D Smgad

Which of the following is NOT an essential

qualification for appointment as a Governor ?

(1) He/She shall not be holding any office of profit
under Central, State or Local Government,

(2) He/She must not be a member of
Legislature or Parliament.

(3) He/She should be a citizen of India and
completed 35 years of age. .

(4) He/She should have a domicile of the state
to which he/she 1s being appointed.

& 80b 8&° KK NP8 SHVITS 088

500 67 ‘

(1) e&H/ed Sog, g Bo g Fehares®
ol ergTPabEDS HEDD DA SolErED.

2) 085 /6 THHY Swe PEDotn $eH
00 POLETELD.

(3) o085 /6D rEsRd FEHG dowd, 35 Dok
S SOA eowed.

085 /83 D a8 dahvotaters®

~altr) 90D GOTRD.

29.

30.

Using the powers enshrined in Articles 2 and 3

of the Constitution of India, the Parliament can

do which of the following ?

A. Admit new territories as new state of India.

B. Split or merge existing Indian states.

C. Transfer and exchange of territories to
neighbouring countries.

D. Alter the names and boundaries of existing

Indian States.
Choose the correct option :
(1) A,B,C&D (2) A,B & Conly

(3) A,B&Donly (4) A.C& Donly
P88 Toaroos®  P¥deen 2, 3 st

LPotHdTS8S vserreid adErhod, Yot

&3 808 85 DD TohKes ?

A B rrrod p8Eddes® 58 oo
DS SKo.

B. o838 &%) 988 oo dPdosito Sov
%0 Badhibo.

C. FHiH Teved drermre OB, 26D
Babhio. |

D. a@8 &%) 68 o 2, $8F e
S8,

0N e QowHE &sm :

() A,B,C&D *'(2) A,B&Cargsd

() A B&D#rgd (4) A, C&DrgdH

Which of the following Lok Sabhas were NOT
completed their five-year term of existence ?

A. Tenth B. Eleventh

C. Twelfth D. Thirteenth 36
Choose the correct answer : “IEI‘?‘E
(1) A & Donly (2) A&Bonly

(3) B&Conly (4) C&Donly

& S0b T80 H 6 S T8 ﬁﬁg 80

Dod&yore sreo ST NE B ?

A BES B. HEE0LS
C. $Bo8s D.  He58mis
D8R Pz JothHE Ssm:

(1) AZD&ES (2) A&BsSrEd
@B&Ca’m@ﬁ: 4(4) C&DsrEd
e
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31.

32.

Consider the following statements relevant to the

Principles of Ministerial Responsibility :

A. The Council of Ministers shall be
collectively responsible to the Lok Sabha.

B. The Council of Ministers shall meet at least
once in a month. '

C. Ministry as a body shall resign as soon as it
loses the confidence of the Lok Sabha.

D. The Ministers shall hold the office during
the pleasure of the President.

Choose the correct answer :

(1) A,C&Donly (2) A,B & Conly

(3) B,C& D only (4) A,B&Donly

Ho@ B ergsBed Sowohod & Sob arsmod

HBrBosod: _
A. H08 ®oKd &6 [ S W

EvEapisilelal

B. 0@ o0 IJop 8o aEX0 |
SR E S Wotal

C. &6 $38® deegho P o Fobd Hood
Ho050 Fno vodarsr Bosr.

D. ogo8 @&u& D% Soghen ehsEos
FRrrbard.

0N 235”200 QoS Kre0:

(@) A C&Dsmsd (2) A B&CEmED
-),(3) B, C & D &mead 4) A, B & D Smgah

Who were the other members of Justice

R.S. Sarkaria Commission on Centre-State

Relations ?

(1) V.K. Duggal, Vijai Shankar & N.R.
Madhavan _

(2) B. Sivaraman & Dr. S.R. Sen

(3) M.M. Punchi & V.K. Duggal

(4) Dhirendra Singh & N. R. Madhavan

Sos-org Somogrep Jomtn BRS &R0 ©b. A, |

5om) B s E(S BEY $4H5e0 DB ?
(1) D3.%5K5S, Dacd 086, N, 88, KrESS

@ 9. BSPSS, . 5. 65, HS

®:% @
(3) ao.ao.fqncﬂ,mﬂ.cﬁaﬁé EE‘E
(4) BB0s 2oh, IF. 6B, SrEES

33. The effects of the Proclamation of National

emergency are :

A. Extension of the Executive Powers of the
Union Government.

B. Extension of the Parliament’s law making powers.

C. The federal provisions of the Constitution
will continue to function. :

D. Restriction on fundamental freedoms
guaranteed in the Constitution.

Chﬂnse the correct answer :

(1) A,Bé&Donly (2) A & B only

(3) A&Conly (4) A,B&Conly

PBOD diSS HORB 56D Heraren :

S0 ehds sﬂfﬁgmun_gévé ©BS Te DY HSTamow.
FEhotw Seren EPIPOROD WHSTTR BBSTEPoD.
orers0i08t R $kmay oFeren SATITI dobron.
orersoifo 8 BDyS WREE Vo HOMS.
H8S 2aransd JothE dm:
@ A,B&D&ED (2) A &BSogd
3) A&CSrEd »(4) AB&CSmEd"

34. According to the Election and Other Related

Laws (Amendment) Act, 2003 :

A. A 50% tax exemption to individuals and
corporates on all contributions to political parties.

B. Disclosure of party finances and
contributions over < 20,000,

C. Equitable sharing of time by the recognized
political parties on the cable television network
and other electronic media (public and private).

D. Expenditure by third parties and political parties
comes under ceiling limits, and only travel
expenditure of leaders of parties is exempted.

Choose the correct answer :

(1) A_B,C&D (2) A,B & C only

(3) B,C&Donly (4) A,Cé&Donly

ABen, BSL Somodd Stre ($5%e9) &0, 2003

S 0w >

Bsedo:

A, She, SEBe Talad P o) 6b¥
DeBS00D 50% 55 DIFFan0y.

B. &rfob &». 20,000 s Td 888 S5bddo,
D& SomohHé wozre Ik,

C. Sd BDIeS 3¢, a8 Dﬂ%é‘&g &S
(585, R3IS) @ Sared KD
£rods cradcdh ﬂﬂém SSmdore HohssSko.

D. éﬂ@ﬂ FohHen Poire  Soho WSS,
orasdch FrPen, mEhen TD Hoho AYEe
28 HDoR HBDHS 6508 $:5086.

N0 2P QOB D! /

() A,B,C&D (2) A,B& Csr@ad

(@ B,C&D&rE$d (4) A,C&DsSrgd
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35.

36.

Which of the following group of persons were
‘members of State Reorganization Commission ?

(1) S.Fazal Ali, H.N. Kunzru, K.M. Panikkar
(2) S.Fazal Ali, S.K. Dhar, H.N. Kunzru

(3) S.Fazal Ali, K.M. Panikkar, B.M. Katzu
(4) 8. Fazal Ali, S.K. Dhar, K.M. Panikkar
oo HXE KREsen KES &° & o es®

DS Behgenr Bo&TE ?
(1)) 35.5060b,35.05.Gop,3.05. 5345
(2) . Pad @d,d03.46, 35.98. Hops

, 3) R PeeS ©9,8. 9. 56855, 8. 0. B

(4) IR.Pad ©d,d538.45,8. . He8%,5

Who among the following were members of the
Constituent Assembly of India ?

A. Annie Mascarene

B. Dakshayani Velayudhan

C. Ammu Swaminathan

D. Sucharita Pandit

Choose the correct answer :

(1) C&D only

(2) A,B&Conly

(3) B,C&Donly

(4) A,Cé&Donly

&% 808 TPBSE® DB TrePgol ooy SISt HaHseore

a0l ?

A. 857508

B. megrodhed JerainisS
C. w0
D. %588 Holé

e

RPN BTN DOHE dw:
(1) C & D Smigad
@ A,B & C $m&
(3) B,C&D Smgd
(4) A, C &D S
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37.

38.

Match the following Women Chief Ministers
with their respective states :

Women Chief Minister State
A. Sucheta Kripalani 1. Goa
B. Nandini Satpathy 2. Assam
C. Syeda Anwera Taimur 3. Uttar Pradesh
D. Sashikala Kakodkar 4. Qdisha.
5. Maharashtra

& 800 Hirer Svyy Hoghed 6 wores®
80 0:

aDaree Snggood o°go

A, PS8 Eyerd 1. R
B. 50B38)8 2. oy
C. Jahor ol 85076 3. &86ae

D. $8%g 88,5 4. a8y
5. %oy

Choose the correct answer :
R8N 2257200 SJotDE Kosm:

(1) A-4;B-3;C-1; D-5 (2) A-3; B-4; C-2; D-5
(3) A-5;B-2; C-3; D-1 A-3; B-4; C-2; D-1
Good governance aims to bridge the gap between
power and people. An important aspect in this
direction is the responsiveness of the government.
Which of the following strengthens responsiveness ?
Evolving and abiding by a Citizens’ Charter
Redressal of Public Grievances

Review of Laws, Regulations and Procedures
Competitiveness in politics and electoral
process

E. Transparency and Right to Information
Choose the correct answer :

(1) A,C,D&Eonly (2) A,B&Conly

(3) A,B,C&Eonly (4) A,B,D&E only
oRSBo-Hae Hoify ©oSTR) SROSED KLBVS

©F50. & BES® Sy ©oFo PEHBFY B80S,
%8 800 TBS® (80850 BB DD ?

A. oo TEEHD CHRNA Sad%o, e Senad
BO%E0.

Res HT°He DO BoBsKo.

Sepen, dnogsden, Drare Sbfosto.
oresdatren, adyEe PBches® PBEs 0.
PBEEES, Jde Y L.

:(’)EES 2357°20R) SJotHE Rnm;

Sawm»>

MU 0w

(1) A, C,D & E&r$d

(2) A, B & C Smiggad

,.,@A,B,C&E:m@;i:

(4) A, B,D & E Smigad


8923917
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39.

40.

oOwp

00w >

What is the reconfigured pedagogical structure of

school education system in the New Education

Policy - 2020 ?

A. Replacement of present 10+2 system with
5+3+3+4 system.

B. Replacement of present 10+2 system with

4+4+3+4 system.

C. The system consists of foundational,

preparatory, middle and high school stages.

D. The high school stage is subdivided into two:

9 & 10 in the first and 11 & 12 in the second.

There is an option of exiting at Class 10 and

re-entering in the next phase.

Choose the correct answer :

(1) B,C,D&Eonly (2) A,C&Donly

(3) B,C&Donly (4) A,C,D &E only

IrgS doey Der0-20208° FEwe Hwey HHY

DRBBIOBES S5 D00 HWE ?
A, §58 1042 Dordo $08 5+3+3+4 Jgesos

@

Sy Behedob.

B. & 1042 derdo ok 4+4+3+4 Ardod
S8y BoHa&0d.

C. & {8 JIB, - Spers, HPgd, afs
ardare Sden EOA G0tnod.

D. 3°&mS Botd sden: 9 & 10 3053, 11 & 12
Bois Bdenm D&iBodsadod.

E. 10 % $5586° Diood, S50 $¥6° 86A
$3803 wssedo Ko,

N0 aEPensdd am:s:@mm

(1) B, C, D & E &3 (2) A, C & D $mi8

*+(3) B, C & D &r&d A,C,D&Eér@.ﬁﬁa

Which of the following are considered as the ways of

preventing and redressing the abuse of power ?
Subjecting power to the threat of sanctions. ,
Obliging it to be exercised in transparent wa}fs
Forcing power to justify its acts.

. Allowing media into decision/policy making meetings.

Choose the correct answer :

(1) B,Cé& D only (2) A &Bonly

(3) .C &D only (4) A,B & Conly
%800 T88° D 9SS KHBNATTAY NarBo, TP

3858550 BOTRS e $ortos wtiaron ?
0BT Bo e BBBoDH SPadsto. _
©HSPTR) BEE BN 550 BoHTRS Seniks .
S50 SHYSS 0hTR a8 Do Santo.
DS iﬁﬁﬂéﬂjﬁ Aeh  $ErSTe
Sregistireid edhdoidio.

R0 2357020 20tHE”How;

tSnyle]

(,@ B,C&D&rEdH (2) A &B smEd

(3) C&D&SrEd. (4) A,B&CHRED
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41.

42.

The PM-KUSUM Scheme was launched by the
Government of India in 2019, It is a part of
which of the following ministry ?

(1) Ministry of Forests, Environment and
Climate Change

Ministry of New & Renewable Energy
Ministry of Family & Child Welfare

(4) Ministry of Social Justice

S HEHS0 D o — HHD HP¥osH 20198°

B*BoDoRod. ad & 8ob D HoB; s’ erifo?

(2)
3)

(1) Y 6P FTY), 5005 ©of FabéS Todk

@ DR &5 &g ok Biogend Y

(3) Y &S 50 wok Y ITY6
(4) Do2Y S RS )

Anti-corruption measures of the Central

Government are the responsibility of :
A. The Central Vigilance Commission

B. Administrative Vigilance Division [AVD]
in the Department of Personnel &Training

C. Central Bureau of Investigation [CBI]

D. Intelligence Bureau [IB]

Choose the correct answer :

(1) C&Donly

(2) A,B & Conly [E];08] -

(3) A&Bonly i;j'%

(4) A,Bé&Donly

S0 BHEHss DB JEXEE SBgen DO erifss :
A. ZoBDRBR EBS

B. 2,08, 8% daro 8°0 ed0RBS 8B,
89S [AVD]

C. oS ar’ 85 a3;dnas [CBI]

' D. z0&98S, et [IB]

N8 20208 DOtHE !
(1) C&D &r@ad

{2) A B&CHgd

(3) A & B SrEgdd
(4) A,B&D S
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43.

Match the following Bills/Amendments passed
by the Parliament in 2020 with their respective
Ministries :
Bills/Amendments Ministry
A. The Occupational Safety, 1. Finance
Health and Working '
Conditions Code, 2020,

B. The National 2. Labour and
Commission for Allied Employment
and Healthcare
Professions Bill, 2020.

C. The Insolvency and 3. Personnel,
Bankruptcy Code Public
(Second Amendment) Grievances
Bill, 2020. and Pensions

D. The Companies 4, Health and
(Amendment) Bill, 2020. Family

Welfare
5. Corporate
Affairs

20206° Eﬁgﬁmém sardo Frobd & Bobd
fepen /S58esed T8 $om0obE Hoo@dy Fpos®
2368 HBHem:

Deven /SHBesen 0By T

A. BOHRDAES I, P 1. PR,
wob $8)0f BoliR)

&%, 2020.

B. &35S 808R H6 2. Bobwof
©3E wol G E6  dodrdd@os
@;-bﬁa"!);, 5, 2020.

C. &38R w0l 3. 866,508

250885 8°6 (VEok ASZS @0k RS,
Do ) HS, 2020.
D. &%0dd% (0o8po5) 4. S wok Josdod

&S, 2020. 38,6

. 5. s8&° ﬁeﬁ @@5“]
Choose the correct answer :
K8 2320 JothHEKoakn:

(1) A-4; B-2; C-1; D-5

'A-2; B-4; C-1; D-5
(3) A-3;B-2; C-5; D-1
(4) A-4; B-3; C-5; D-1
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44,

45.

The River Cities Alliance (RCA) launched in
February, 2022 aims to provide the member
cities a platform to discuss and exchange
information on the vital aspects for sustainable
management of urban rivers. Which of the
following cities are part of the RCA ?

A. Ayodhya B. Delhi C. Hyderabad
D. Rishikesh E. Udaipur

Choose the correct answer:

(1) A,B,D&Eonly (2) A,B&Conly

3) A,C,D&Eonly (4) B,C,D&E only
8586 285 ovods; (RCA) 2@$6 2022¢6°
Erdofoiatod. B8 By Sthe JEDHS Vet
Bon0fod S¥ DS vosred $By0d), SErToed)
Sr8)E THEIEN8 By ShoreH ¥ JFOED

woboddo 82 o¥0.8 80b FTAS O SKioeen
RCAS® epiform emmyon?

A, OBrEs B. &9 C. r&ooerh
D. 6%8% E. addm b
0N 83570 eYoTHE Rosn:
+(1) A, B,D&E&mgd
2) A,B&C&rgd U,
55T

@ A, C, D & E $misad
(4) B, C,D & E&Smgd

Which of the following aspects are considered as
the social accountability initiatives ? |

A. Centralised bureaucratic planning and
policy formulation.

B. Citizen’s Charters.

C. Community score cards.

D. Participatory expenditure tracking.

Choose the correct answer :

(1) A,B,C&D (2) A,B & Conly

(3) B,Cé&Donly (4) A,B&D only

& B0d TBS® D wosren LAY wTrTrdsS

S BRenre H8KdodaEaran ?

A. Zoisys ohsed Herds, Dprd Srdsmen.
B. 53R,

C. g8 5 5oes.

D. grKdrgos $s05 H8sEgeo.

K8 e3arenidd otHEnan:

@ AB,C&D  (2) A,B&Cirgd

"(3) B,C&Dsr@ad (4) A,B&DSrEd

/
&3


8923917
Oval

8923917
Oval
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46.

What is TS Glnballmker ?

; | -ﬁ. It is a digital networking platfurm

B. It is an initiative of T-Hub.

C. It helps MSMEs contact global buyers and
sellers.

D. As per Socio Economic Outlank 2022, a
total of 7,000 SMEs from Telangana have
registered on the platform.

E. It collaborates with the Confederation of |

All India Traders (CAIT).
Choose the correct answer :
() AB,C,D&E _(2) A, B & C only
(3) A,B,C&Donly (4) A,C,D&E only

TS £f0®058 e 3 ?
A. s el 830 IBSH0)oR a0 76,
B. ab T8 563,

C. =
BB Ho

MSME o% &ad £difermrden,
BHBOBLS® SFDHHHH0B.

D. Beorrme FuBe e Zews — 2022
SorsEo Igo 7,000 SME en & e 6,
&8 $Retd BooHraeyom. '

E. 2b53)50as 6 od ar::(f-lcﬁan &8y (CAIT)
8 5556500,

N8 aaranidy QohHE ;-

(1) AB,C,D&E o0
B

" (2) A, B &C Smgsd

R (3) A,B,C&D&r@a

A,C,D & E $rgd

|

|

RS T R Wil P ek i W ol b S bielerebd Wosshiiieed] SR Y il il L el TR S F W o S W O R
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47.

The Telangana Electric Vehicle & Energy.
Storage Policy 2020-2030 provides 100%
exemption of road tax & registration fee for
different variety of electric vehicles upto certain
number of vehicles purchased and registered in
Telangana. Match the following types of vehicles
with their limits of exemptions :

Type of Electric Exemption upto
Vehicle
A. Two Wheelers 1. For first 20,000
: I vehicles
B. Three-Seater 2. For first 10,000
Auto-Rickshaws vehicles
C. Buses 3. For the first
2,00,000 vehicles
D. Private Cars 4. For the first 500
| vehicles
E. Light Goods 5. For the first 5,000
Carriers vehicles
6. For the first 12,000
vehicles

Boorree JoiS S2rEd) & %50 TS Arod 2020-
2030 Boorres® Sffen 3D, $3rH DS I
dolE e JBR Songs® 8% By, BAES
$erd® 100% QS5FowoDnH ©odKd. &% 80d
ro oD 8 LSSFanode HOHHoE®
SEHEHBD:

2088 aredo Ko X0 HOLS
A, S ardearen 1. 3w 20,0000
FPTeH
B. Bsestopen 2. 30$8 10,000
VALY
C. adyen 3. BB 2,00,000
PTTO
D. 53585 4. i 500
. ARSIy
E. 88 Krk) 5. 3w 5,000
Sptelonit AN VPRI
6. TS 12,000
FPIPTOR

Choose the correct answer :
D0 esaranidd QohE !

" (1) A-6;B-1; C-2; D-5; E4

2) A-3; B-4; C-6; D-2; E-1
A-3; B-1; C-4; D-5; E-2
(4) A-6;B-3;C-2; D-4; E-5


8923917
Oval

8923917
Oval


48. The Social Innovation Policy of Telangana is , S1. Consider the following statements regarding

driven by which of the following ? ’ inclusive policies for older persons :
(1) Collaborate, Innovate and Transform l A. Rashtriya Vayoshri Yojana (RVY) provides
(2) Empathise, Inclusive and Empower physical aids and assisted living devices to
(3) Innovate, Produce and Market l senior citizens.
(4) Educate, Innovate and Enterprise | B. SACRED portal was launched for the
& 808 D BoT0 T Boor FES 355&3 45 I zzrzneiisymem in dignity for the senior
TR BIVH0B? C. The Government provides financial
(1) Berd08, o535, €55, assistance directly to the senior citizens
- through an open invitation on Seniorcare
(2) IS, BOEFESD, DODBE Ageing Growth Engine (SAGE).
Q) S8 @emwas e e T
. d
(@) NHEE, a3, Ao08 i and administered by the Pension Furd
- Regulatory and Development Authority
49. In Yasangi 2021-22, around 63 lakh farmers (FERDA).
received investment support under the Rythu Choose the correct answer :
Bandhu scheme. Arrange the following - (1) A, C & D are only correct.
beneficiaries from lowest to the highest based on (2) A, B, C & D are correct,

the number of recipients :

A.. BCland owners B. SC land owners

C. ST land owners D. Other land owners
asmdon 2021-22 &° B 2ot HEo 8ol T

63 ofe Bden Jtpald HEH Fowd. (firse

(3) A, B & D are only correct.

(4) B, C & D are only correct.

Syhe @céﬂg&’:ﬁé Ageare® (Inclusive policies)
So0oPoS & mespsed H88D0S0s:

Kows eTrsorT 808 omrdhot 8% $Hod J¥yS A. TR ST Gress (RVY) HaHE e
H0p5E @508 ym: | FTHE HSFchzren, SHBahE 2550050
oSEROB.

A. DD e ahedrden

B. 2852 chekreden

C. 58w chadmden Cpig
o

B, JcH6 2B AESHsore 8BA &0
s9odo 8o  SACRED %S

ErdodoSalob.
D. 280840 doessmioen j
C. cH8 86 Do °8 mo=S (SAGE) 2
f;;“::;‘;m;;‘;z“ o8P0 @ifgto e SAHE BB
e ¥ ' S0 D $HAHD OB,
(1) B;A;CD (2) B:C:D: A ; | :
3(3) B;CA;D @ C:B:D: A | D. 18-40 Rod&yore oy HcH) Ho zrpss
50. Which of the following projects aims at FHooses  wtd '3:13‘::5 Gireny (APY)
improving dietary diversity among tribal children wolerind®  @otnod. BV 23S Hob
and wapen ! BrosB68 ok BSeSHoE ©ge6s (PFRDA)
(1) Giri Samatha (2) Giri Arogyam D DELF 0B,
(3) Giri Poshana (4) Giri Bhojanam -~ S
& 808 8BS AdaS STV &mpﬁﬁ 3PS IDRs N SETEDD JOWS: :
Dot BESTRS &FB0DS @B D6 ? (1) A, C&r@d D S $352.
(1) AB KK (2) AdwBKs0 » (2) A, B, C&bdin D 5g39.
@ AB e 4) ABSteso (3) A, B &rEd D S $359.

() B, Csrisd D s 5359,


8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


N2,

The Transgender Persons (Protection of Rights)
Act, 2019 defines a transgender person as :

A. Trans-men and Trans-women
Trans-women only
Persons with intersex variations

Genderqueers .

S - T

Persons with socio-cultural .identities, such
as Kinnar and Hijra
Choose the correct answer :
(1) A,C,D&E only

2) A,C &E only gﬁ
(3) B,C,D & E only |

4) A,D &E only

PR Borh Ko (Se¥ne BEm) $&0 2019, ¢ |

BokEd & Diore R}ﬁsﬁ"@nﬁ :

A. B ~RS, Q) =R

B. r8) -8 Swgad

C. =05 D5y SDersen EOAS Hgben - I
D. @064,

E. 8405, tre $o8 dmas, ox8% K50

Ko Sgen
{8 2357205 DoHE o :
y(1) A,C,D&E Sorighad
@ A, C & E $m$3
(3) B,C,D & E S

(4) A,D & E $r8ad

16

Consider the following in relation to the
complaint of sexual harassment under “The
Sexual Harassment of Women at Workplace
(Prevention, Prohibition and Redressal) Act,
20137 :

A. Any aggrieved woman may make, in
writing, a complaint of sexual harassment at
workplace.

B. Complaints can be made to the Internal
Committee if so constituted, or the Local
Committee.

C. Complaint should be made within a period
of three months from the date of incident.

D. In case of a series of incidents, complaint
can be made within a period of four months
from the date of last incident.

E. Where the aggrieved woman is unable to
make a complaint, her legal heir or such
other person, as may be prescnbed may
make a complaint.

Choose the correct answer :

(1) A,B&Eonly (2) A,B & Conly
A,B,C&Donly (4) A,B,C&Eonly

“B paed® J0p BoRs IgoHen (Ve

Dao, HOH0) Hkyo, 2013”7 8ot Pons SpoHe

TRsEHE HoeofHod) & Bobd & 1TerothHsin :

A 08 HiIrgr IS/ H HBFos® Bohk

SfoHe  HBod TSRS Doy
B0,

B. 283¢ dooen adss® wodds 088 S
PR EHEBS Do By,

C. Sozed =bAS Kurd Soo JHES° Hows
BasrD. -

D. 3 otde Daahod®, D56 Soxoed :BAS
80 o8 eord Jve HHHSt DoesH
By,

E. 2r08 § 83 dooghido TahBd DKo, 8%
B8 B0t Ter KrDoDS DL $:8 dovys
DDy,

08 e2areenid JotHE !
(1) A,B&E $m$d

2) A,B & Csrgd

3) A,B,C &D $r&d

f(4) A, B, C & E $r5ad


8923917
Oval

8923917
Oval


Match the following Institutions with their
locations : :

Location
1. Kolkata

Institution

A. National Institute for
the Visually
Handicapped

B. National Institute for 2. Dehradun
the Empowerment of
Persons with
Intellectual Disabilities
(Divyangjan)

C. National Institute for
the Orthopedically

Handicapped

D. National Institute for

Mental Health and
Neuros Sciences

3. Bengaluru

4. New Delhi

5. Secunderabad
& Bob Sogeid od X @ro $08° 2858 sw:

B0 @rodo
A FSS s 566 1. Seee
Qe Ssolsrsdl
B. SaSSaldeormgti 968 2. BEErS
D0DBEoES B BNy
D8 BotBENSS :
8200895 (Barmgoras)
C. IS aerst5 68 3. BoKerd
685285 Sodsegdh
D. Jh8S addiars® $6 4, JrgdO
oS ed ©of St
REVE
5. dEoprerd

Choose the correct answer :
08 22are0) QothHE sk:

(1) A-5; B-4; C-2; D-1

(2) A-4; B-3; C-5; D-2-
(3) A-3;B-1;C-2; D4

A-2; B-5; C-1; D-3

17

35.

56.

The Scheme of Development of Particularly
Vulnerable Tribal Groups (PVTGs) covers which
of the following ? '

A. It covers 75 identified PVTGs in India.

B. It covers the activities like housing, land
distribution, land development, agricultural
development.

C. It covers social security including Janashree
Bima Yojana.

D. It is implemented in 18 States and Union
Territory of Andaman & Nicobar Islands.

E. The Scheme is rigid; the states are allowed
to implement the Scheme on the items
identified by the Centre alone.

Choose the correct answer :

(1) A,C,D&Eonly (2) A,B,C&D only

(3) B,C,D&Eonly (4) A,B,D&E only

B8 e Abed Sdordfe (PVTG w) @ﬁlaﬁag

H5E0S® i & Eob 88 DD ?

A gr888808° 75 19805a8S PVTG en 836° gri0.

B. Kyelomo, & Hodd, o 08,
BB Pasr D)0 Ho seEEErer HAS® griso.

C. 5@ Do Rroassd B 5558 i ¢1e58 S eifo.

D. 832 18 oegren, So 08 Prodo wolSFR,
28%2r6 BHed® o Fda.

E. & %80 H85 036, S¥eo oo rHB0DI
©OTORI A TPFren eien BArD) dotnod.

NON 235ra0id QoHE” !

@@C,D&Em@aﬁ: 2§ A,B,C&D srgd

(3) B,C,D&E&Sr@sd (4) A,B,D&ESrEad

Arrange the following poorest economic strata of
Indian society from the lowest to upwards based.
on their income levels as per the NITI Aayog’s
Social Inclusion Sector Report July, 2021 :

A. Scheduled Castes B. Other Backward Classes
C. Scheduled Tribes D. Muslims

N8 e@rf ¥ES moded b 0D 8 2021
B0  emdd  powe  eLRSorT PEBSH
38220680 & Bob DS ©8E Fewed wde) Kol
28 eohotiyho:

A. Ez;cﬁ:"aqé Leren B, 388 Sosads $6rden
Cs Eltﬁaugé éfen  D. 2008

Choose the correct answer :

5B 2aPa0i JoHESEn:
(1) A,CB,D D,A,C,B
(3) A,C,D,B (4 C,A,B,D


8923917
Oval

8923917
Oval

8923917
Oval


57.

58.

59.

Kollipara and Kuruvagatta inscriptions tell us
about :

(1) Expeditions of Gautamiputra Satakarni

(2) History of Vemulavada Chalukyas
-(3) History of Satavahanas

(4) History of Kakatiyas

§0al8, HEHE) BITen HIH DAY Em@ﬂwc&:

6)) H"Eﬂ&ﬁ)@@ﬁﬂ*ééﬁ Bodaimgsen
@ Fwoms T S6E
(3) s 56
(4) sEde S
Satavahana inscriptions record the existence of a

number of craftsmen in Telangana region. Match
the following crafismen with their occupations :

Craftsmen Occupation
A.  Kularikas 1. Stone polishers
B. Manikaaras 2. Potters
. Mithikas 3. Weavers
D. Kolikas 4, Iron-workers
5. Jewellers

DEPTHe THTen Boorrer @rofost ok
5008 % $wrsrthe a8 B3 DdTrow. &8 (8od

% Srrsebhod 50 $y%es® eddshHim:

HEgsethen yéhen

A Hobdhes . 1. 08 FOG Do
B. s 2. % e

C. Do8%ew 3. B3

D. &9%en 4., 25D HAT B

5. $Ken Dot

Choose the correct answer :
R8N 25T DOTHE ew:

(1) A-3;B-2;C-5; D-4
(3) A-4; B-3: C-5: D-1

A-2; B-5; C-1; D-3
A-5: B-2;: C-4;: D-3

@

More than half of all multi-dimensionally poor
individuals in India live in the following states :
A. Bihar B. Jharkhand C. Maharashtra
D. Madhya Pradesh E. Uttar Pradesh
Choose the correct answer :

(1) A,C,D&Eonly (2) A,B,C&Eonly
(3) A,B,D&Eonly (4) A,B&Conly
PSERE0SR 208 DS 2TePs® Hrrds e &
Bobd G‘Qﬁ:é& BRSO R

A. 56 B. @808

D. Sg@©dé E. a88$Has
K0S esarens QotHE Ksw:

(1) A, C,D & E &»53 (2) A, B, C & E $roE5h

@A,B,D&Eﬁ:ﬂ@ﬁ: (4) A, B & C 553

C. Sy

18

60.

61.

Which of the following “siccas”/coins were used
during the Asaf Jahi period ?

A. Hali Sicca

B. Mahbubia Sicca

C. Mal Sicca

D. Osmania Sim;:a

Choose the correct answer :

(1) B, Cé& Donly

(2) A,B& Conly

(3) A,B&Donly

(4) A,Cé&Donly

& Bod 8% 0ih alre eod® aBErRCDS

“Demen /TR’ DD ?

580 %)

Soeardodh dE)

£ %)

A ke DY,
KB5S S :
(1) B,C & D &r@ah
(2) A,B& C&r8d

43) A,B&D SooEsad

A,C&ﬂaﬁr@ﬁ:

Who was the architectural designer of Osmania
University College of Arts & Social Sciences

building ?

(1) Egyptian Architect Ali Khaled Elewa
(2) Spanish Architect Andrea Palladio
(3) English Architect John Abel

(4) Belgian Architect Earnest Jasper
6l Rafr HrRSE)E 088 6f 6fy wok ﬂi.;eﬁ

DD K0 8B BESS ABSE 5% ?

5 0 W »
LB
E‘gﬁ

(1) &) w685 0d g0 TS
(2) Ryows ©0)BE soddir Jepdar

- (3) =ohR @Egrﬁg PR DS

BOOHS 88, BE 3BT e5)6



8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


Match following newspapers/magazines with | 64. Match the following authors with their literary
their respective founders during the Asaf Jahi e’
period :
Newspaper/Magazine Founder Author Literary Text
A. Asif-ul-Akbar 1. Amjad Ali :
B. Safeer-e-Deccan 2. N. Narayan Rao A. Vallabhacharya 1. Prataparudra-
C. Musheer-e-Deccan 3. Shoebulla Khan I charitamu
D. Imroz 4, Qaza Abdul
Ghaftar ' B. Ekamranatha 2. Simhasana
o9 wire eos’d & Bod TTHBSw/ |
ﬁﬁﬁg@ 89 %"&Gﬂ& EE@E 2355555 - i C. Kase San'appa 3. Ganapﬂthl*
#u:ﬁ 8% /SmrES | 5:5553‘53 . devacharitamu
A ed5-65-055 1. wonbed D. Koravi Goparaju 4. Kreedabhi-ramamu
B. 355-2-85%8 2. AR, FTCHS TS S Silihscta.
C. 5wh6-d-5%S 3. BewerarS chariteams
D. agrs 4, greP eand Kard
% 5 & Bodh OSlmdod O JrEy (Horres®
5. 088 &R Tra
Choose the correct answer : 25 ¢
R8N 2257720 QOHE R
BeSonds s (oo
(1) A-5;B-4;C-3; D-2 o
(2) A-3;B-2;C-4;D-5 ‘i‘%ﬂ
/ ]k . . PERHG HB8E
A-2; B-1; C-5; D-3 (e A SREPURLS i ety
(4) A-4;B-3;C-2; D-1 _
B. QS0 2. OIS mryflodE
f
Which of the following are part of the Gond
Tribe ? C. DI 3. KedddS S885w
A. Raj Gonds B. Madia Gonds
C. BhonslaGonds D. Khatulwar Gonds D. &89/ Horer 4. Eodoedodw
Choose the correct answer ;
(1) B,Cé& D only (2) A,B & Conly ' 5. hg.ﬁsﬁ SB8S0

(3) A,Bé& D only (4) A,Cé&Donly
% Bod a88° FPotd 8BS grifo wanid o 2S%?

A. o€ RPoen B. $5&c%HRothen
C. &fodAfotoe D. wptwerd froHen
8 esaPeni HOtHE 0w @ A-4: B-1; C-5; D-2
(1) B,C & D &w@ad
(2) A, B & C &mgid
A, B & D Sr@an
(4) A,C&D SrEd (4) A-3;B-5,C-1;D-3

Choose the correct answer :

i 5B 2250200 DOTHE K0 ;

; (2) A-5;B-3;C-4;D-1

(3) A-2; B-4; C-1; D-5

19 | B


8923917
Oval

8923917
Oval

8923917
Oval


65.  Match the following books and authors :
Book Author
A. Tokkudu banda 1. Annavaram
Devendar
B. Mankamma Thota 2. Gogu Shyamala
Labour Adda |
C. Jeevitam Oka 3. T.Krishna
Udyamam Murthy Yadayv
D. Enuganta ~ 4. S.V.Satya-
Tandrikanna narayana
Yekulabuttanta
Talli Nayam
5. Joopaka
Subhadra
80b Hdsred o8 S¥ondes® 50k 0k
QDo SSond
A. &% a0l 1. o580 330856
Ho0850,8% b 2. R eghe
TP |
C. £dSoeddalgdo 3. €. 52550078 foxhTatS)
D. d%Ko8 B0l 577, 4. 0. J8roeches
Goomiod $9
Raevhle
5. emarE s
Choose the correct answer :
8% 2357720 JoHE ow:
(1) A-5; B-1; C-2;D-3
(2) A-1; B-2; C-3;D-4 Eﬁ
,(3) A-4; B2; C-1;D-5 E
A-3; B-1; C-4;D-2
66. Which one of the following is NOT a book

written by Jeelani Bano ?

(1) Naghme ka Safar (2) Aiwam-e-Ghazal
(3) Pinjar (4) Patharon ki Barish
% 808 Hved® Bord e 858 =08 28?2

) ﬁsux:ass -

| @ 0B
L

2) oS-d-Poad
(4) 8% 828R

20

67.

68.

[ 69.

In which of the following places did Sarvai
Papanna built his Forts ?

A. Thatikonda B. Shapuram

C. Geesukonda D. Vemulakonda

Choose the correct answer :

(1) A&Conly (2) A,B & Conly

(3) A,B&Donl (4) B,C & D only

& 808 9 rodres® Foriow aPHK) St 9800

D ?

A, o850 B. apHdo

C. Ad&ol D. Jswetol

0 225720 OHE 0!

(1) AXCSrEad  P(2) A,B&CHrgd
@ A.B&DsSrgdh (4) B,C&D srEd

Which of following statements are INCORRECT
regarding the Ramappa Temple ?

A. It was built by Rudra Deva.

B. Itis a Shiva Temple.

C. Perini Dance Postures are carved in the
Temple.

D. It was declared as a World Heritage

Monument by the UNESCO in 2020.
Choose the correct answer :
(1) A&Donly (2) A,Cé&Donly
. (3) A,B&Conly (4) B&Conly
o) Bareddo B0 & 80d B A JTID

sy 7

A. & Barocsrd) S B9 B 0DTD.

B. ad3dzroddo.

C. 2B &y ohded & Terocho
FOTW.

D. & Gorodedy 20208° ©dod EIS
SextSorr IR, BESoob. :

50 22577200 OLHE KW :

L (1) A&DSrEd () A, C&DSmsd
3) A,B&cw@é‘:ﬁ&cm@&

Which among the following castes was NOT
included in the “Ayagar” system during the
Kakatiya period ?

(1) Mangali (2) Kummari

(3) Kamsali (4) Komati .
seEdcioe sPe0 T8 “earrry” Bﬁﬁaﬁéeﬁs & Sob

Seres® D8 BEyE 8 ?
(1) H0Kd Q) %0

(3) Eod 55068



8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


70.

71.

Which of the following statements regarding

Sammakka-Saaralamma Jatara are correct ?

A. Sammakka-Saaralamma Jatara begins at
Medaram.

B. It commemorates the fight of two sisters,
Sammakka and Saaralamma.

C. Jampanna was the brother of Sammakka.

D. The actual festival begins during the month
of Magha, on Suddha Pournami.

Choose the correct answer :

(1) B&Conly (2) A,B & Conly

(3) B,C&Donly (4) A & Donly

550y8) ~rTreR) 2pEED Sowohod & Sobd 85

$BED DD 7

A, 308 -oresy coidatel Dredos®
rPBoHST b,

KB, 3d BB, Foey), a5dh Audwwe
Doeerd) §80HBotnob.

C. EG@E’)&F’JE’D&%& L.

D. ol Hoil S Srdod® HE P d
BT E00.

0 23577200 OHE W :

(1) B&C&ér$ (2) A,B&CIHoEd

(3) B,C & D $r&d A & D $mEd

Sufism in
INCORRECT

Consider the
Telangana and
statement :

(1) Dargah of Hazrath Baba Sharfuddin
Suhrwardi is at Pahadi Sharif, Hyderabad.
Kankhas are the Tombs of the Sufi Saints.
Shaik Baba Sharfuddin and Shiabuddin
propagated Sufism during the Qutub Shahi
period.

The Sufi Saints propagated the composite
culture and unity between Hindus and
Muslims.

“Boorrnd® Krdowerdd” Homobod & 8ob

3 SOKBOD, SPL BHELB 1HB0S0A :
(1) @6 oo SOBS  wsE
PSS HHE K0P S 6B,
(@) sowenird w8 o890 S
3) HHS déro seos® AE wer JAEHEN,
205renBS Kd HHeed) Pirdo et
Grdh D HhHen Srotie-sndoe s
DB HoidyB, S Baeto Bed.

following about
identify  the

2
(3)

(4)

5

(4)

21

72.

73.

.(3) A-4;B-5; C-1; D-2

Match the following Films with their Directors :

. Film Director

A. Dorasaani 1. Nimmala
Shankar

B. Matti Manuhsulu 2. . K. VR
Mahendra

C. Jai Bholo Telangana 3. Raj
Rachakonda

D. Mallesham 4. B. Narsing Rao

5. Shyam Benegal
% 800 DVEPOD B $8H08° 8BsDHin:

B0 Bt
A. BPEFD 1. Q%o Fosb
B. %8 Hidospen 2. 8.9.66.53r0
C. 886 Boorre 3. o8 ooisEPol
D. $8%o | 4. 9.56)0R 8
5, BossD BIKE

Choose the correct answer :
V0N 2PN o)t N8 e ;

(1) A-3;B-4;C-2; D-]
(2) A-5;B-3; C-4; D-1 Bl

E‘@‘
A-2; B-4; C-1; D-3

‘eVTOL Technology’ is related to which field ?
(1) Aviation |
(2) Biofuel Production

(3)
(4) Microbiology
‘eVTOL osS8%

Ho20H0NG 7
@ DEPS AP0
(2) &% z0850 688

Semi-conductor manufacturing

$oepso’ O Boredl

(3) ©f e Sarb
(4) Srgdsego -


8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


74.

75.

o 0 wp

" fa
U ow

Consider the following in view of PSLV-C53 :

A. It was launched from the second launch pad of
Satish Dhawan Space Centre on June 30, 2022.

B. It is the dedicated commercial mission of
Antrix Corporation.

C. The launch vehicle carried three satellites from
Singapore, namely DS-EO, NeuSAR, Scoob-1.

Choose the correct answer :

(1) A, B&C (2) A & Bonly

(3) B & Conly (4) A & Conly

PSLV-C53 5&“?}5 &6 80b a8 HBKBotod

A ad I3[ I8 o owd (SDSC) &%
Cotiderony B Dol e~s 302022 %
SGrhodalod.

B. 56 abo@E) S&BRS o Faws® JH8s
FPedesg AN

C. 2oKGPS £08 DS-EO, NeuSAR, Scoob-1 e
SRR AP G s TS I3 ob.

585 STPEDH JOHEHE:

(1) AB&C (2) A & B&mgsh

(3) B & C Sm$d A & C 8

On a cold day, during an early breakfast of bread
with Ketchup, one would have noticed that the
ketchup barely moves out of the bottle. A little
warming of the Ketchup would solve the
problem. Which of the following statement
makes sense in the above context ?

Liquids become less viscous during high temperature,

Kinetic energy of the molecules increases with

temperature.

Liquid resistance to flow increases with increasing

temperature.

. Kinetic energy counteracts the intermolecular forces.

Choose the correct answer :

(1) A,B,C&D (2) A &Bonly

(3) A,C&Donly (4) A,B&Donly

2.8 8PS0 alcirsd @5, 385 werio 8:0%F

$506006%, B 508 BH dodEr nchid THKo
S50 Koo bRB. vand B35 H o S8
- VY BHXy DOABHHH0s. P JoBdorr 8ob
RS O BHBeS ©FHoSorT ¢otnobd?
0% ADEKS 550508° aren SN Kb drderon.
oPHES° wrnHe K8 4§ KHH08.
o) PSS (SR8 e DEREE 200D

. 198 38 wodd v pered P8ISR,

PO 2z JOTHE W ;
(1) A,B,C&D 2) A &B &g
(3) A, C&D Smgd A, B & D $mgd

22

76.

11,

What would happen to earth if the sun suddenly
disappears ?
A. The earth immediately experiences the lack
of sun light.
B. The earth experiences the lack of sun light
after about eight minutes.
C. The earth immediately experiences the lack
of gravitation. |
'D. The earth experiences the lack of
gravitation after about eight minutes.
.Choose the correct answer :
(1) B & D only (2) A& Conly
(3) A&Donly (4) B & Conly
Xo05t ¥ e SerahPDE 28 DHHHoh?
A. g JobS HrdEeR S8k 5.
B. 0 o) QB Ddare  Sovgd
385880 E°6%dob.
28D Jobd rHheEegEdensh §°65%08.
D. ¢ ©rd IO Ao dovgd
ﬁﬁ:aﬂiégmm 5508,
Q8N waran JothE s
@ B&D& @D (2 A&Cirgd
(3) A &D SrEs )(4) B & C Smiah
The correct order of velocity of sound in the

media — water, iron, vapour and air is :

(1) iron> air > vapour > water

(2) water > iron > vapour > air

(3) iron > water > vapour > air

(4) water > vapour > air > iron

D%, 350w, D8 6B, md dirdsees® $0 Irrdé
2020000 HOGHN Eodn:

(1) =580 > md>J8 edd > Ao

| oo
(2) N%>udHin>dBeds>rd E‘;E

@ 25050 > S > HB e8> rd
.IF i

4) %> HB 66> rrd > udosm


8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


78.

Match List-1 with List-2 and select the correct

answer using the codes given below ;

List-1
(Defect of vision)
A. Myopia
B. Hypermetropia
C. Presbyopia

D. Astigmatism

List-2

(Corrective lens)

1.

2.

Bi-convex lens

Bi-concave lens

Cylindrical lens

Concave-

convex lens

Bots adyS ¥ ad@rRod, rder-1 Q erdae-2 &

28500, FOGHN 2357208 DoHE DS

eedar-1
(5,8 68%0)
A 558k
B. 88&6)%
C. Hargo

D. erao

(1) A-4;B-2;C-1; D4

5(2) A-1;B-2;C-3;D-4

.(3) A-4;B-3;C-2; D-1

A-2; B-1; C-4; D-3

erdee-2
(55808 Bea¥o)
Bs-ogrsel o
By-érsed Sbso
Rpaerd Stoso

3y —Biogrsed

o

sl
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79. ° Match the key-boards with their layouts :
Type of Layout

Key-Board

A. QWERTY. 1. Vowels on left hand
side and most used
consonants on right

hand side
B. Dvorak 2. Letters arranged in
square patterns
C. Dextr 3. Letters start with Q,
W, E, R, T, and so on
D. KALQ 4, Optimized for thumb
typing
5. Keys in alphabetical
order
ﬁ-—ﬁﬁg Ssrodh 8 BudSod® 5620 08,
8 65 85w B

A. QWERTY .l. 2538 3H oden
(vowels), aéa;ﬁ#
43@PAOT SFrenen
(consonents) & JHS

B. Dvorak 2. SHYFsBos
oH5ES vforen

C. Dextr 3. Q W,E, R, Tero8d
FEE Inedhs vgoen

D. KALQ 4. $od Bhof 8°%o sdDd
Schadod

5. ©E8 Sre EHos® Hovyen

Batol & e

Choose the correct answer :

20N 835P20: o8 nam:

(1) A-3,B-4, C-1,D-2
(2) A-3,B-4,C-2,D-5
(3) A-3,B-2, C-5, D-1

A-3,B-1, C-5, D-4


8923917
Oval

8923917
Oval


80.

81.

o aow»

W

Which of the following organizations set the

standards and naming rules to be adopted on the

internet ?
A. The Internet Society
B. International Organization for Internet

Standards (I01S)
C. American  Association for Internet
Protocols

D. The Internet Corporation for Assigned
Names & Numbers (ICANN)

Choose the correct answer :

(1) A &D only (2) A,C&Donly

- (3) A,B&Conly (4) B & Donly

wodTreo(8068)E & Kowodod ©bdboTd)S

PSreren, Ao Sob TS D Ko/

ErErobiinod /Srsrodaron:

A. BmobBS D

B. 20b3)A8S o8BGS $6 wotByS okl
(101S)

C. oBES oPERHAS H6 80808)¢5 ©8e5Peees

D. B 20008 STOBES 96 08 38 & Soab,

(ICANN)
RO aarand JotHE Ssw:

@A&Dm@sﬁ 2) A,C &D $rEd

(3) AB&C&rga» (4) B&DSmgd

Match the below products of biotechnology with
their application for treatment of various
diseases/disorders,

Interleukins Treating Haemophilia

1.
Insulin 2. Treating cancer
Tissue plasminogen 3. Treating diabetes
activator

Blood factor VIII 4. Treating heart attacks and

stroke

5. Treating leprosy
£ PoTBE HEDDS G&)TPen LHB © N BEDS

Fyoe rbnd® 8K Kerdr 8105 9P9@ASY.

530 5B ﬁgﬂﬁﬁ 2seh oo,

5066 engdRy 1. Se3r20oiw AL
=RV 2. 525,60 D8,
Eeaerersd oﬁﬁj?&;ﬁaﬁﬁ 3. HSH s DES)
68308 -

88 se88sm VIII 4, oRDén D8,

5. §J§.‘g EJ‘E';&J aéé&

Choose the correct answer :
DOV e3a7en DotHE Ko

(1) A-2, B-4,C-3,D-1 (2) A-5,B-3,C-2, D4
(3) A-4,B-3,C-1,D-2 (4)) A2, B-3,C-4,D-]
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82.

84.

Examples of Voluntary Standards (Indian
Standards) adopted based on International Codex
Alimentarius with suitable modifications.

(1) Standards Weights& Measures Act

(2) Bureau of Indian Standards & AGMARK
(3) Fruit Product Order

(4) Milk & Milk Product Order

59 $58008° mobBRSS 5788y ©0dRDotrBoHS

sgrborr Troobd Foly (08dHS Joil,)
DT BhaTow. D D ?
(1) oub Jowds), by s
2 (2) et 65 8080HS Foish & of 56,
(3) e @FiE wib

D6, & D6, FE 05

Match the following bases as per their usage :
A. Ammonium 1. Fire extinguisher

Hydroxide

B. Sodium 2. Bleaching powder
Hydroxide

C. Calcium 3. Soap preparation
Hydroxide '

D. Aluminium 4. Removing grease
Hydroxide stains

B0 ored o8 HIErKo egrbore edHESes.
A. o3FrNchorEeE 1. of)EeHE e

B. B&cHo reedy& 2. HOoR Eb

C. 9ubor@EgE 3. S doied

D. oemhddho 4. (Be» D88
o= I &R0

Choose th; correct answer :

SOCHN 22arz0:D JoHERoEW:

(1) A-4 B-1 C-3 D=2 mm

(2) A-4 B-1 C2 D-3 @%
(3) A-4 B-3 C-1 D-2

3‘ A-4 B-3 C-2 D-1

IIT Kharagpur researchers developed eco-
friendly food packaging material with which one
of the following ? |

(1) Cow Dung (2) Banana Peels

(3) Banana Stem (4) Cucumber Peels
0.0.8. p8A 6 oH & Bod 850 d&t

Sovgstes wdtre HE  PELR SHHe
SPGBV ?
(1) ©H Dok (2) ©88&5e

(3) w88 oo (@) Bsah &G
,_ ®


8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


Consider the following statements in view of | 87.  Before transfusion of blood, every unit of donor blood
rusting of Iron : is NOT tested for one of the following diseases :
A. Itis chemically named as Iron Oxide. 8% %ﬁh‘l“ g; g:ﬁgg’s B&C
B. R}lsm?g is cnnmdereg asa cl_lemmal change. 5% 5r8)A8 008, T B3, H8 %o HrS 80d
C. Zinc is coated on iron articles to prevent )
them from rusting. 506”8 80 HBF0iS atith ?
Choose the correct answer : #(1) ROH (2) HBBRE &
o Sl {5 ok Letmly 88 fG}r:enrf:s E:r;:;isqe:aSa;-;" is e:d ju& to excess
0B HP Do Byips & God TS production of which of the following hormone ?
58800508, (1) Growth hormone (2) Parathormone
(3) Insulin (4) Thyroxin
A B SRS S0 083 E%JE' &3 808 Q TS © ©HY 688 sSmore NSy o5’
B. &Jp JbKo LradIE Sedyr zrdod $508 ?
BiHEoR. () &8s Q) Fopss
- (W]
TR, 89.  Mother’s breast milk provides immunity to new-
N8N 2:aPenid QotHE Kosw: & born babies because it contains ;
B& 9 & B 4y (1) Immunoglobulin G (2) Immunoglobulin E
@ & ¢ W), A& Ry (3) Immunoglobulin M (4) Immunoglobulin A
() BECSmED  (4) A&CSmED 8D &y Fen $Herd BHHoH KIS S8
With reference to the isotopes of elements, ©oBI oW, otHEE B05HEt Gois:
consider the following statements : y
A. The isotopes of cobalt are used in the 1 mﬁs&ﬁjﬂas G @ mﬁﬁsﬁjmas B
treatment of cancer. (3) =sngSRendS M S05T°e0OR A o
B. The isotopes of iron are used in the | 90, Consider the following in relation to the ‘Monk
diagnosis of anemia. Fruit’:
C. The isotopes of uranium are used as fuel in | A. The monk fruit is known for its properties as non-
nuclear reactors. caloric natural sweetener. ' _
D. The i £ iodi 4.t th B. Originally the monk fruit is cultivated in China.
: e isotopes o lodine are used In € | © The cultivation of monk fruit is taken up for the
treatment of Hepatitis A. first time in India in the state of Himachal Pradesh.
Choose the correct answer : D. The cultivation of the monk fruit in India is
(1) A/B,C&D (2) A& Bonly supervised by the Institute of Himalayan Bio-
() R&Cony o &P Saly Chesen the e it
Srosre pfEH o 20208500, [_gﬂfb E“E_ﬂ.‘laﬂﬁj () A,B,C&D {2} A B&C ﬂﬂl}"
2BKeBoiol (3) A,C&Donly _ (4) B,C&Donly
A. Srd oS 0 556,5 D865 i’; :: i;z“k Ml Rakoel Wk fon
AR A éﬁamgm K:’:v é:?a $OR dotitos® cHd
. QAOLL
B. s oS o sEbrss 5656 2 e R
P00 B,
B B 28 6558 & F1H BPS® estivsH0d
. PR D0 T°S” &3 ob.
C. c5080a90 ot e e BasrEss? 2
A C. Fr888806° B Here i DI trsmss (s &
SoSorr GHTEATL. o
- @‘ﬁ"“ﬁ;we RO ERIES s ke D. 688408 9B Fero oS e ©F
BB Pe SPEPOALS £ -0055) B st SEEGHT.
AL, SR
RIS SENED SOCORMD: 536 BT
(1) A,B,C&D ~ (2) A&BSrEd @ABC&D (2) A,B&Csred
,® B&Cargd  (4)) A B&Carmgd 3) A, C&DS»EH (4) B,C&Dsrgd
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8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


91.  Match the following :

Tree

A. Ashwagandha

Pressure -
B. Sarpagandha 2. Medicine for Jaundice
C. Nela usiri 3. Medicine for Nervous
weakness
D. Brahmi 4. Medicine for Abdominal
pain
5. Improves memory
&3 806 s8R eaHthiham ;
E&E andrro
i
A. o808 1. 8% Fend ot
B. 3%)HKo& 2. 5°3b8 a7508 dooth
C. 3o a8 3, $or0 poirdEs Hoth
D. grér, 4. E5H T8 Ho
5. agﬁé Z82 Dodrohotbo
Choose the correct answer :
OG0 aaranid JoHE odm:
(1) A-3, B-1, C-2, D-4 @{%
(2) A-1, B-2, C-3,D-4 O

A-3, B-1, C-2, D-5
(4) A-5, B-4,C-2,D-3

92. Match the

following Covid-19 vaccines |
according to their nature :

1

Usage
Medicine for Bloo

e P L W AR i e g ey

List-1 List-2

A. Pfizer 1. Plasmid DNA
B. Covaxin 2. Inactive Vaccine |
C. Sputnik-V 3, RNA Vaccine
D. Zykov-D 4. Adenovirus based Vaccine
80B8°DE-19 d R 8 Sprdo epedor
e3df 08,

erdar-1 ed)ar-2 !

i
A, ’53&35 1 é‘:ﬁnﬁ,&. Py 1)
B. &&nS 2. WoirdE s
C. @8-V 3. «6508s
D. 8s%§-D 4. ©BFIE wprod S

Choose the correct answer :
NOGHN 22570208 DoHE oW

(1) A-3 B4 C-1 D-2

(3) A-4 B-2 C-1 D-3

(2) A-4 B-3 C-2 D-1 }
|

A-3 B-2 C-4 D-1
B0
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%4,

O 0 & e

What is “Happy Hypoxia” ?

(1) The condition where you may not realise
your blood sugar levels are falling.

(2) Is a Hormone released by brain when you
feel utmost happiness.

(3) The feeling of mind when you have
accidentally survived from the death.

(4) The condition where you may not realise
your oxygen levels are crashing.

“Bsd 2P 0ie "eSre S ?

(1) > gﬂ:@ ﬁtrﬂ%m HEDHTHEHY D
K&aRouB H628.

(2) D ©HBWE ©Sorrd) BHFIR/HPD
He5to NS B 2.8 8658, _

y 3) D% HBwo S0l 058%omr  2ahes

HESHPLD H0550) 0B gPSS.

D o8l Fover HENPHTHAHD
KER0SB HORS.

Consider the following statements in relation to
the newly developed solar powered survey craft
for ports and inland waterways :
This is developed by the National Technology Centre
for Ports, Waterways and Coasts in IIT Madras.
This 1s developed by the National Institute of
Ports, Waterways and Vessels, Cochin.
This 1s an unmanned autonomous survey craft and can
be used to ease maritime traffic even in shallow water.
The Craft does the hydrographic and
oceanographic surveys and provide real-time data
transmission over long distance.
Choose the correct answer :
(1) B&Donly (2) A,C&Donly
(3) B,C&Donly (4) A&Donly
LECHe, ©odls mo Srore 86 SHo FEm

©dH)0 I I ¥88° 4T ©§ (oo )
Sowodod) & Sobargmei H0rBoSod :
I w08 JHEEd & J8SS Beoed 2owd H6
8, e D wob R T 0950 TTH.
O F9S adeorstS  ©f G, B I ©ok
E‘.}ﬁtﬁ} 5‘1&%5 Evleh) E@Eﬁa@ DHTH.
B0 SPHHBERS, $0HoRdIY Ko E°F/aSogo. 5
S 5D IBS® S50 Sarerid Hogsto ScHreds
Eroe AHEPA0ESED.
& ©5/chogo FETRE, 20N (w8 KB
Bobro, My Brdo T9S-Kch Bér Erd),as
DedreniHEod.
5B 2337200 DoiHE Kosw:
() B&Dsred {{2) A C&Dirgd
(3) B,C&D&rgd (4) A&DSrEd


8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


95,

96.

97.

The Cabinet Committee on Economic Affairs
(CCEA) chaired by the Prime Minister has
approved the increase in the Minimum Support
Prices (MSP) for Marketing Season 2022-23 for
the following number of Kharif crops :

(1) 4 Kharif crops (2) 14 Kharif crops
(3) 24 Kharifcrops (4) All Kharif crops
B8 $0B ©Bes° 6B¥ SSSore SIS

$é 2022-23 508 B0R HaS B ™ A 265
Ho&es B3 H8& $8o Dodod ?

' = v
(1) 4wbSsower (7)) 1465 Sonen
(3) 2485 %oken  (4) ©»bddSoben

Which of the following are major divisions of
ocean floor 7

A. Continental shelf B. Continental slope
C. Deepseaplain D. Oceanarcs

E. Ocean deeps

Choose the correct answer :

(1) A,B,C,D&E (2) A,B,C&Donly
(3) A,B,C&Eonly (4) A,B,D&Eonly
808 T8 SHE0EH @D RSt Hord

Jerreen e ?

A. s083F0bd o)

B. seofi3o6d aren B
C. &8558m0y reso E@
D. {5 Foen

E. {35055 omrgres

38 aareanid QohE Hdw:

(1) A,B,C,D&E
(2) A,B,C&D srgad

@ A, B, C & E $rd

, (@) A,B,D&Esrgd

The dry aromatic roots of which of the following
crops are used to make mats, curtains and fads
etc. ?

(1) Patchouli (2) Mint

(3) Vetiver (4) Palmarosa grass
808 8BS & Hob Y JodS DKol B
Segbn, ¥8% Hbain rsE Hod G Scsrbs®
ADEPATS ?

(1) 239

@ 3855

2 Hbw
_ @ Fo8'ar K
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98.

99.

Which of the following are National Waterways
in India.?

A. Haldia to Allahabad on river Ganga.

B. Geonkhali Charbatia stretch of East Coast
Canal

C. Dhubri to Sadiya on river Brahmaputra.

D. West Coast Canal from Kottapuram to Kollam.
Choose the correct answer :

(1) A,B,C&D (2) A,B & Conly

(3) A,B & D only (4) C&Donly

81800 TrBE° D gr5E BE06° erdad ae SrTren?

A. Hore SaRS Ko rDase 508 westorth Sro.

B. &rdy) &5 @rod srend 650 dGropd SomyBod
a"n“tgr:u.

C. &8 36 Ko S Hobd SHch S8,

D. $8y% 8o rend @rodod® &8 Ho Hol
EPero SUB.

{8 2arand JoHE"an:
AB,C&D = (2) A B&Csrsd
(3) A,B&D&mSd (4) C&DSrEsd

Match the following Mines of India with their

respective Mineral production :

Mine Mineral

A. Kodingamali, Odisha 1. Copper
B. Malanjkhand, Madhya Pradesh 2. Iron

C. Kunderkocha, Jharkhand 3. Bauxite
D. Bailadila, Chhattisgarh 4. Gold

5. Lead & Zinc

& Bob PPEERE KHed 0 668 To edarod’®
228530 :*

fatd PRS0

A, S8oKErd, LA 1. o°A

B. oerod pof, HGHRs 2. sk

C. %oaB&%s, ol 3. @B

D. Beder, $8050E 4. @2omdo

5. 5%0,8K80

Choose the correct answer :
B esaranid QoS om:

1) A-2;B-5;C-1;D-3 -
A-3; B-1; C-4; D-2

o (3) A-4;B-3;C-5;D-2

(4) A-5;B-4;C-2;D-3


8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


100. Match the following Medium Irrigation Projects
of Telangana with their locations :

Project Location
A. Boggulavagu =~ 1. Dharpalli = Mandal,
Nizamabad Dist.
B. Gollavagu 2. Pennballi Mandal,
Khammam Dist.
C. Lankasagar 3. Malhar Rao Mandal,
Jayashankar-
Bhupalapalli Dist.
D. Ramadugu 4. Kotepalli Mandal,
Vikarabad Dist.
5. Bheemaram Mandal,
Manchiryal Dist.
& Bob Boorrnd® HFy S8 S DHise
FEDHOD Pl Q:EJ‘EJEE 2858HS»
) o
A Fhoard 1. 5D Dolieo, Qerirerd
Bep.
B. e @b 2. 2%0. Holieo,pino B
C. 0o8>iE 3. b s dHoreo,
| a0D¥ 08B -graredd der
D. oot 4. E'85D Hoteo, DsrTrerh
B
5. dimio Srotieo,
sodosse BeP

Choose the correct answer :
505 a3arenid QothEdodn: i

@A—-S;B-ﬁ;c-i; D-1 (2) A-4:B-2;C-5;D-3
A-2: B-4; C-5; D-1 (4) A-5;B-3; C-4;D-2
The Sargasso Sea is located in :

(1) North Indian Ocean
(2)' North Atlantic Ocean
(3) South Atlantic Ocean
(4) South Indian Ocean
KRy Smso K& @ob ?

(1) &858 2rotir SHSsEmEs0
a88 otrodls HFdsnko
: (3) e wtrofs HFdno
(@) B Trolie HFHENEO

102. Which of the following is NOT the peak of

101.

o0

Western Ghats ?

(1) Salher (2) Kalsubai

(3) Pushpagiri .  (4) Jindhagada

& 80B 86° H8y B Bpdo 5008 26 ?
K1) 86 2) Eemyzrd®

B) %iho OGS
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103. Consider the following statements :

A. The southward shift of counter equatorial
warm ocean current during southern winters
give rise to El Nino current.

B. El Nino phenomena increases temperature
of East Pacific Ocean off Peruvian coast.

C. = El Nino brings heavy rainfall to coastal Peru.

D. South-west monsoons in India weaken

when El Nino phenomena takes place.
Choose the correct statements :
(1) A,B,C&D (2) A &Bonly
(3) B&Conly (4) A,B & Conly
8ob argwsed H0KBoSod :

A 88w eBRgos Soesrpod® Tobb
&8P00HS S MPPTo Bin ID

Hogftod® S AT HapardS 108Hod.

B. & IF Berso S driy) S0DHE SnuPFsnisd
2EHICHT BE0S® AP BErHEOB.

C. a6 9F Her5os® & 88 @roses® zrd
SErdo Hrtohod.

D. sS850t 5 IF HepSos J0d

: anddSTren pedrdntaron.

OGN aPgzeD SotHE e :
A,B,C&D (2) A&BSed

+(3) B&Csrd (@) A BECSIED

104. Consider the following statements :

A. One of the causes of Global warming is
greenhouse effect. . |

The atmosphere absorbs part of the long wave

infra-red radiation emitted by the earth.

The gases that absorbs long wave terrestrial

radiation are called as greenhouse gases.

Carbon dioxide and Nitrous oxide are

greenhouse producing gases.

Choose the correct statements : -

(1) A,B,C&D (2) A &Bonly

(3) A& Conly (4) A,B&Conly

Sob argmse 30HBotol :

4rErdd8 2.8 S0 FOSK i (AS F8) Serso.

PErSSe0, #D ol st *55-.,5, S0l Hovdes

(infra-red) D8BesoS® 08 ermed) Keriod.

4088 B8 Storred HKirod rdidPed o8

Ky (B8 5°R) ardinden ©otrdh. '

5N Eairg)B, S 68 F08 iy @S FR)

Serard o8 srainiden.

RO T JothE 5w :

AB,C&D ) A &BSrgd

(3) A&Csrgd (4) A,B&C SeEsad

B.
C.
D.

@ >


8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


105.

106.

107.

7
Genome Valley in Hyderabad is a :
(1) Textile park
(2) Amusement Park
(3) Biotech /life science cluster

(4) Ecotourism site
ETrerhE S EFD 750 038 & §:

(1) BE)BS 6, 0
(2) IS eSS0

@ 2&r88 / 85 ) 5136

4) =8° erdeo RS

Which of the following districts of Telangana
has the border with Karnataka ?

A. Vikarabad B. Narayanpet

C. Medak D. Jogulamba-Gadwal
Choose the correct answer :

(1) A,B,C&D (2) A,B & Conly

(3) A,C&Donly (4) A,B&Donly
Boorrer ™R & Bob O Bepen eSS’ JOHen

SOR ameyom ?

A, Sscorerd B. mmdﬁamf:@

C. %8 D. &heron-iord *
098 sareni QotHE sn:

(1) A,B,C&D (2) A,B&C&Srgd
3) A,C&DSrsd A, B & D $r8

Match the important mountain peaks with their
location in the Andaman and Nicobar Islands :

A. Saddle Peak 1. North Andaman

B. Mount Diavolo 2. Middle Andaman

C. Mount Koyob 3. South Andaman

D. Mount Thuiller 4. Great Nicobar
0olsrS, b Aot 68) B DB

ool 8 P08 $oSkey0b.

FES HE 1. &85 0ol
SP0f5 BoIrsFS® 2. Dy 0olSrS
5Pl B°@rS 3. 58 ©o&ErS
SPofl dravelf 4. B 28508

Select the correct answer :
588 SErrrard) JotHsiod:
(1) A-2,B-4,C-1,D-3
(2) A-4,B-3,C-2,D-1

O o wp»

Q) A Bl G, D3

A-1, B-2, C-3, D-4
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108.

109.

Match the following :
Place Craft/Industry
A. Karimnagar 1. Painting
B. Pochampally 2. Metal Craft
C. Pembarthi 3. Ikat
D. Nirmal 4. Silver Filigree
5. Carpets
80 s8N a3 8HBE08 '
Qﬂeﬁw 8¢ /50850
A. 88036 1. Dowolon
B. 2%$5059 2 5}&.}6{5{)
C. o8 3. u%8
D. 85 4. 2036 2R
5. dzFden

Choose the correct option :
KBS exarenid DoHE0s:

A-4, B-3, C-2, D-1¢
(2) A-1,B-2,C-3,D-4
(3) A-1,B-2,C-4,D-5
4) A-2,B-1,C-3,D-5
Consider the

following in relation to

Kaleshwaram Project :

A. Construction of one barrage across river.
Godavari at Medigadda.

B. Construction of two barrages between
Medigadda and Sripada Yellampally

project at Annaram and Sundilla.

C. Construction of one barrage on river
Manjeera at Papannapet.

D. Kaleshwaram stabilizes the exisiting ayacut
under SRSP Stage I & 11

Choose the gorrect answer :

(1) A,B,C&D (2) A,Bé&Conly

(3) A,B&Donly (4) A,C&Donly
SEEgo TBED Sowohod & B0 8D

DBreSoiod: )

A, DEKE S FPorkd $63 o8 ergSd om0,

B. om0, wobY¥ 58 HAKE, 38 J0oHd
@PHE S0 Toth ersSee Aomyeso.

C. FBymes S Sodoe 58 ¥ argde Joeyo.

D. s#do SRSP /& 1 & II 8ot ©pdo &)
eahEints HEEBK0H.

NN 22arend JotHE %n:

(1) A,B,C&D (2) A,B& C&rgd

@ A,B&Dsrgd (4) A,C&Dsrgd


8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


110.

111,

What will be the next letter in the following
series 7
% 80d BBS° $hard ST wEbo OB ?

Z,X,S,LR,RG,?
ol
I

(1) M
3) K

Point B is 3 meters North of Point A. Point Cis 3 |

meters West of Point B. Point D is 6 meters
South of Point C. Point E is 11 meters East of
Point D. Point E is how far (minimum distance)
and in which diréction to Point B ?

(1) 8 m, South (2) 14 m, East

#(3) 10 m, South-East (4) 8 m, North-East

B SromoS, A dowotss agoes 3 Mk drdos®
0B, C owotS, B Sranos & $8yEr8 3 et

. &rdos® ach. D dowotS C drowotsd B8eeS 6 |
Dotsg BrBos® @od. E arawod5, D drowod § |
drdys 11 S &rdos® @od. FowodS E, |

FranotS B 8 dod ¥% Epost, D BES® aod?
(1) 83,%8ee0 (2) 14 &, drdy

@ 10 &, 0f00  (4) 8, &adpo

113.

Study the following graph pertaining to sales
percentage of Branded and Assembled PCs
sold during 2015 to 2021 and answer the
question given below.

Total PCs (Branded and Assembled together)
sold in the year 2015 was 2,00,000 and total
sales of computers were increased at the rate of
10 % per every year.

Bob rh Hodt 2015 Hold 2021 SEH e&dogd
eroBE SESS Sorshd, edomd DERS
Soipshl e eaed urrdorr SRS Bod
B Srgrso adod.

2015 $058)506° 0203 @roBE SESE Solr i,
womd DHKS Lodpwd o eSS
2,00,000. Bno oigrsbl ekosd: (8 SosE ko
10% 5P 2orvde Gob.

50

90 -
80|~

o Bramded PCs

6ol -

il bh

40-
30|~
20-f—-
13-}

- Assembiled PCs

shomg DO

2015 2016 2017 2018 2019 2020 2021
Year / oS8 00

112. Following question is based on the table given
" below, which gives the sales of Supermarkets
from 2015-16 to 2020-21.
Bod ¥ 2015-16 Hool 2020-21 HEH DB
Jeb Srge ©lsPoN D580 Bod HEED
arlntaod.
Sales of Supermarkets (in Rupees Crores)
HrHB S8y 8 el e (TR
Year/ | Supermarkets/ 000 SrT2e®
noddydo| Prasanthi/ Hﬁshnnf% Mahesh/| Ramya/| Suguna/
Hrod | 8 | SHorF | BHg | Sotbes
2015-16) 400 280 | 320 | 470 | 320
2016-17) 480 400 | 400 ! 540 480
2017-18 540 420 | 580 680 410
2018-19 770 480 GO0 720 440
2019-20{ 560 500 840 900 650
2020-21 850 750 790 | 91D 700
In the year 2017-18, what is the approximate
share of Mahesh Supermarket out of the total
sales of all the Supermarkets? '
2017-18 “ﬂﬂﬁé&ﬁmﬁs , Oy Sob Eﬁﬁﬁaéﬁ & J0éo
osnsres® HIrh IrHb Srgy artr Db
Kod 8o ?
(1) 23% 2) 19%
(3) 21% @ 22 %
L

30

114.

How many Branded PCs were sold in the year
2016 ?

2016 So$$8os® D) Eronh HNS SoF L

a0 20"0n 7
[ Y

(1) 78,000
88,000

2} 80,000
4) 72,000

Each letter of the alphabet fromZ, Y, X .... C, B,
A are given values from 1, 2, 3..... 24, 25, 26
respectively. What is the total value (summation
of corresponding values) of the word “ANIMAL
SCIENCE” ? :

Z, Y, X ... C, B, A 6®0 58 o¥oR8 gDomr
1, 2, 3. 24, 25, 26 dendod B
“ANIMAL SCIENCE” ©d $o Gm¥ wdo

Dend (Hohd Devde Sngo ) Jod ?
(1) 208 (2) 108
3) 143 243
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115.

116.

"(3) Son

Ravi is a son of Anitha’s father’s sister. Sumanth
is the son of Divya, who is the mother of

Ghanshyam and grandmother of Anitha.
Sumanth is Anitha’s father. Ashok is grandfather
of Ravi. Divya is the wife of Ashok. How is Ravi

related to Ghanshyam ?
(1) Cousin o(2) Nephew
(4) Grandson

59, 08 Gwd o s, BEO HErds.
LTS GwE) 8D, Dok odEd
50,550 /Ty Bond By BE) s HHos,
D08, ©dEH Sof, oS, D8 srdahs, BBy
o8 grds. 69, 587 B DHTH ?

@ Hoidetd

(4) J0H

(1) %85
(3) &b

Study the Bar Chart given below to answer the
question,

Sale of the products of three different brands
in five (2001-2005) different years (in Lakh
pieces)

Bob &r8 T $88D0d HHS Skrrrdo abyod .

0t BosEyord® (2001-2005) Hurtd Sve @rok
$om0foNS SRHe vt (S ofst)

[OBOB D) MLIKE

o
e
‘.-.‘-.'.

2001 2002 2003 2004

2(15 i

What is the ratio between increase of sales of
LIKE from 2001 to 2002 and decrease of sales of
BOB from 2003 to 20047

2001 o0& 2002 $5% LIKE wsy5ee IS,
2003 Hoo& 2004 $8% BOB oo Shivte

S5 e A8 Qo ?
@ ]2

{1y ‘3:2
(3) 2:1 4 2:3
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117.

118.

At what time between 7 and 8 o’clock will the
hands of a clock bee in the same straight line but,
not together ?

(1) Si minutes past 7
11

(2) 5 min. past 7

[E] % [5]
B

(3) 5‘%‘ minutes past 7»

(4) 5'13—1 minutes past 7

2.8 K808’ 7 Kobe®, 8 Kobe B Bod
Sothyen &8 IR &858 sHowe, 8¢ Tud® AP
Gotron ?

@ 7 Kot 515—1 Dareen

2) 7 Kobe 5 ddodpen

(3) 7Hobe 5‘12'1‘ Qabaren
]

3
(4) 7 Hobe 571 Qaren

§

Identify the wrong fraction in the following
series :

800 BAS® SKPr 6y DR HQoB0A

247 121622
3713 23 31 43
7 22
M 13 @ 23
12 16
23 @) 3

. In a code language, “R” = 6, “x” = 8 and

“PHYSICS” = 33. In the same code language,
“PSYCHOLOGY? will equal to ...

28 B gpid® “R” = 6, “x? = 8§ Hbdw
“PHYSICS” = 33 wond od 56 ons
“pPSYCHOLOGY” Dens...

(1) 47.33
(3) 46.33

(2) 49.33

48.33
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120.

121.

122.

If ‘M’ denotes */’; ‘K’ denotes ‘- ; ‘R’ denotes
‘+' and ‘T’ denotes ‘x’,then 12T8M 12R 16
K14=2?

2534 ‘M2 /e K’ —fre; ‘RO 4+ e T

‘%’ R, SO ReHpH 12 TEM I2R 16 K 14 =2
(1) 20 (2) 48

3) 38 10 o

A, B, C, D, E and F are six members in a family
in which there are two married couples. A is the
brother of B and uncle of F. F is the only child of
D. C is the mother-in-law of D. C has one son
and one daughter. E is the husband of F.Which
of the following denotes male members in the
family ?

A, B, C, D, E &80 F &3 esivd Sgen o a8

%en0o006° Goth Dardre aoben davyon. ‘A’, B8
Fistots, $Bck> P s/ ereran. F',DA
235 Ho8r$0.C’, D8 e&rmdh. C8 &8 Hriimttd, 2.8
©5r8 amyh. ‘B, FS 8. 8ob 88 Hoe
Ko¢n0206°D i Sghe Srdiod?

(1) DEC @ ADEe

(3) ABD (4) DEB

In a certain code language,

(i) ‘pitnasa’ means “you are welcome’

(ii) ‘naho pa la’ means ‘they are very good’

(iii) ‘ka da lameans ‘who is good’

(iv) ‘od ;m pit 13’ means ‘they welcome good
people’.

Which of the following means ‘people’ in that

code language ?
2.8 858 gpids®, .

(i) ‘“pitnasa’ @od ‘oo 66 Iy’

(i) ‘naho pala’ ®oB ‘B &b 3518’

(ifi) ‘kada la’ @oB ‘G & HE’

(iv) ‘od ho pit la’ ©@0& ‘@ Se,& 08 SHS

& Bob 8S® DHHS'8 o B8 i’ $838 H8o
6 7

(1) pit @ od
@) la @ ho

32

123.

124.

Bhushan starts from his house towards west.
After walking a distance of 24 meters, he turned
towards right and walked 20 meters. He then-
turned left and moving a distance of 10 meters,
turned to his left again and walked 30 meters. He
now turns to the left and walks 10 meters. What
is the shortest distance between the current
position and his house (in meters) ? ;

SRS 35 8o ol HEHE P achendoed.
24 St B0 SBDN STyl 08D, 55 HAIHS
80A 20 Db SETD. STogs, ©EH JEHJHH
86A 10 Dot 8D, Do MHHIHEH 8OH
30 ooy SETeH. BHPLD, B HEDHIJHDH 80N
10 o) $Bareh. 08D &S 508 Hod, =i
&35 a8 Do EVG Krgod’® aTgd (2eds’) ?

(1) 24 26

3 34 7) 44

What is the term in the place of 7" in the
following series ?

808 asas BB6® 7 Pos® sossehI Bo
o ?

AYD, BVF, DRH, ?, KGL
(1) HLK

3) FMI @ GLJ

| 125. 'From the four positions of a dice given below,

find the colour which is opposite to Red ”

cliow,
Orange 1’%

(1) Rose ¢(2) Orange
(3) Blue (4) Violet

8ol adedd o I8 s et Tohded
srrdore 308 AHHD eddoyorr a3y Sordd
EoiPdod ?
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cnﬁtaining four people each, in such.a way that
there is an equal distance between adjacent
persons. In row-1, Asha, Bheem, Chelsi and
Deep are seated (but not necessarily in the same
order) and all of them are facing South. In row-2,
Preet, Qhreshi, Raunit and Sana are seated (but
not necessarily in the same order) and all of them
are facirig ‘North. Therefore, in the given seating
arrangement each member seatéd in a row faces
another. member of the other row. Raunit sits
second to'left of the person who faces Asha.
“Sana is an immediate neighbour of Raunit. Only
one person sits between Asha and [Jeép. One of
the . immediate neighbours of Chelsi faces
Qureshi. Bheem does' not sit at any of the
extreme Eridé of the line. Who amongst the
fﬂ!lqwing ffﬁ-::es Bheem ?

#(1) Sana (2)
(3) Qureshi (4)

Preet
Raunit

D56 08 Ssken, Both BroBs SHBeP a8%%)

S Seothth THPS HEBES &%) Sbe St
BEES  GrBo  GoBenr €y,  EwisS
SEs8%em, §S, 3D, 85 & (a8 Edos’
o) Blme B> Sxin Srlywi. Bots
m@@%"’m@@ﬂs 55 o (a8 Eost
S%0m) 6560 T friin Groymach. & Dorr
Bot Bhest Entysy Bost, a¥ Svet
EmtinyiSy (6 558 Dok BEHE Ytinyy DS6° 2.8
;88 @%l;-fmmnrw wﬁwﬂg_ﬁ: B ©HKOPOTT

ad) 588, H @I ol prod® TRE

K30 0y, PAED S (583 Ertoyob. e, 85 ©
ok 2 BB SrED Loy, 30y & %3
E&Q@ﬂ'ﬁﬁg Hgﬂéa 255 go0h8 efdonporr
a%. HD .08 056%r 588, 80b 06°

HHE ©DINPOIT S ey ?
@ 5% @) &8
(3) w3k (@) Q8

33

L

v - -

T - ot -

S e

i = " A ' =
126. Eight people are sitting in two parallel rows |27, The symbols a, f, #, * and « are used with the

following meanings :

R a S implies that R is greater than S.

R fS implies that R is lesser than S.

R # S implies that R isequal to S.

R * S implies that R is either greater than or
equal to S. |

R o S.implies that R is either lesser than or equal
to S.

‘Based on the above 'smiements, answer the
following : e

Statements :
MaNOfM,MoP

-~ Conclusions :

. MxP -

1. OfP

(1) WNeither I nor Il is true.

(2) Conclusion 1 is true but 11 is false.

»(3) Conclusion 11 is true but I is false.

(4) Both the conclusions are true,
a, f, #, *,00 03 Sogen e» Sob ©Trd) KON a0,

R a S @30 R,S %08 250 @ 5705208,

R fS 038 R,S ¥08 95,8 ©9 5r0508.

R #Se3d R, SH 35ris0 o K}Fﬂ&l’gnﬂr.

R * S o3& R, S %ol 25b 8o S&rso @
30308, ' .
R ® S @38 R, S %08 250 8o $&rdo @
VAVl AR

28 DEF) LS errdore, Sod eds $Ererdo
a0,

L

@S eoaien
MaN,OfM,MwP
Booyso : =P
. M=xP
[I. OfP

(1) 1, 11 8ooyven Boisr eSSy,

@) Soegso | S = 1l obsg.
@ Bom50 11 58550 508 1 658550,
(@) 1,11 8ovjen Botdr S50,
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128,

129,

130.

In the following question, there is some
relationship between the two terms to the left
of :: and the same relationship holds between the
two terms to the right of ::. Find out the missing
term in place of ‘7. .

808 25D85 HEHS® 1 8 D HES @Xy Fod

oo 2.8 A8 Somotio 6ob. : 1 5 BE P5N a)
Joth dmredH Erwe of VY Sowmodo @od ‘P
Eg:iﬁaé" Aot 585 Hrd)) Ehrdod.

MOUSE : KPSTC : : LIGHT : ?

(1) MIHIU ii i MGHFU

(3) JGEFR JIEIR

If the letters in the word DOCUMENTATION
are rearranged in English alphabetical order,
which of the following letters is in the middle in
order after rearrangement ?

DOCUMENTATION o3 5506 @Ero, 8ol
LY EHod® 0588, 8 ©bs & aot Mt wgbo
dndl 7
i
OF
Read the following two statements carefully and
select the right conclusion, which follows the

statements.
(&)< [5)
E"‘@

@) M
4) O

Statements :
i.  All pens are Buses.
ii. Some Buses are jeeps.
Conclusions :
I.  All jeeps are pens. %
II. Some pens are jeeps.
» (1) Neither conclusion I nor II follows.
(2) Only conclusion I follows.
(3) Only conclusion I1 follows.
(4) Both conclusions I and II follow,
Sobh =R Coidh PELIoD pRdr SO,

BE%ed ©dbbod &) 583 Soo o EHrSod.
D5 &S :

. o) Seren adyen.

E° 0 2dnen Eden.

ﬁm;a'e:: :

. @) &Hen Serey,

1.

¥
11.

5" Seren Sden.

foreen 1, 11 en Both @%068059.
2) 8oebo 1 SmEadh ©%d8k08.

3) Boogso Il S ©5tm0.

(@) foyren 1, 11 e Both ©sbIrom.
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132.

i »
L]

7131 Ina non-leap year, if Republic day of India is

celebrated on Wednesday, on which weekday
Mahatma Gandhi’s birthday will be celebrated in
the same year 7

(1) Friday (2) Sunday

(3) Saturday (4) Monday

b Dosdto =D Los8Bosierss Hudoy

o ko ‘ardo’ athpHoll, ©d Sosisos®
Hshar; rrod ecHos D Bard abhHHotrd: ?
(1) HE>rdo (2) sbardo

(3) #dBo oS0

A statement followed by two assumptions A and
B are given below. An assumption is ‘something
supposed or taken for granted, i.e. a fact that can
be accepted as true on considering the contents
of the given statement.’ You -are required to
assess the given statement and decide which of
the given assumption(s) is/are implicit in the
statement and choose the appropriate option.
Statement : Transfer of Employees within the
state should be taken up for every threeyears.
Assumptions:

A: Transfer is one of the best tools available
for controlling the employees.

Employees overstayed may mvolve in the
corruption.

Neither Assumption A nor Assumption B is
implicit.

Only Assumption A is implicit

(3) Only Assumption B is implicit.

(4) Both Assumptions A and B are maplicit.
Bod HHS o8 BHELS, Sotdh riSe sHmmron.

28 (HELS DHorRE ABAEK DoE Deenrm
ZPRoDN LoD PSP PSS, ad)d
D80S H64D0D, PELS IEsRE D
PSS /grsSen S EGTrdr HBoSos.

56 : 38 Swetd SoSEyTre a8 ;B P
&8P yHeodnddiarD.

graNen

A: aBf oo dohoPoddo 8D oD ol
woherens® ais) wdEH HbAmdo.

JEnd oo a8 HPRFos® JVTD &8 5oen
2dNB8 Froyd vdseEo 40b.

A, B en Boir grdosalsd.

A SrEd ordodndod.

B Smgadh erdodalob.

A, B e» Botir graodarron.

B:
(1)
(2)

B:

(1)
(2)

©)

4)
r
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133. Consider the following in relation to the India’s

longest Rubber Dam inaugurated in September

2022 :

This dam is known as ‘Gayaji Dam’,

It is on the Falgu River,

Falgu River is in Odisha.

Experts from 1IT (Roorkee) were involved

with this project.

E. Shri Gajendra Singh Shekhawat, Minister
of Jal Shakti inaugurated this Dam.

Choose the correct answer :

(1) B,D&Eonly (2) A,B&Conly

(3) A,B,C&Eonly (4) A,B&Donly
J0ath 2022 & Eodosads rESBED @8

PESS Sapth wrye0®H Sowohod Bod G
HoRBoSol:

C A S ‘Hoird T’ @otrd.

80 D S0P wob.

Hep 56 2.8 S° sod.

& BES® pwd (878 ) Ndeaes P,
0¥ D08 § KEol Dol D6 & TryHHid
SBodom.

N0 22aPenRD HoHE Ko ;
(1) B,D & E &e@d

(2) A,B & C sm@ad

» 3) A,B,C&E $rgd

A, B & D Smd

OOy

i i e O

134. Scientists are now fine-tuning their research to

make a presentation for the Geographical
Indications (GI) registration of “Kai Chutney”
- under food category. Kai Chutney belongs to
which of the following region ?

(1) Odisha’s Mayurbhanj

(2) Maharashtra’s Hingoli

(3) Tamil Nadu’s Chengalpattu

(4) Karnataka’s Gulbarga

S5 Srrgre Sered® “svd® $8)” O PRE 0%

(GI) m™ $3=% Dodo %o Eden =6
BOEEI0H HB DD B HiTnydh. o 36
& 808 8BS O Doa8 TohSH ?

@ 2BPE°R Sabmwdyos

9 Q) HHForredtd eroftd
(3) SWFFHSD Euﬁq}&a
(@) BoowEs® e
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135.

136.

Consider the following in relation to the Internet

and Mobile Association of India (IAMAI)’s

report “Internet India” released in July, 2022 :

A. Around 346 million Indians are engaged in
online transactions. <

B. The number of digital transactions in India
are greater than that of the US.

C. The number of female internet users are more
than male users.

D. Social-media, entertainment and
communications are the top three activities.

E. The report estimates that there will be 900
million internet users in India by 2025.

Choose the correct answer :

(1) B_C&Eonly (2)A,B,Cé&Donly

(3) A,C,D&Eonly (4) A, B,D &E only

28 20228° dile DAS oGBS, IS

oFDALAN  © molddir (IAMAI) d30%

“BotB) Boldir” % Hoofod & Sob a8

BreSosod :

A o) 346 DOCHS S8civen ©f BS
FFEled® DD ey,

B. 2r88 G¥od° &80 erardde Sopy dHIDE
_:i:iéﬁ %08 QBN B,

C. HBHo B0l HIree owdyS DIRrHTeHe
Soms &yB.

D. FLS-Dicsr, dFso, LdnPERD S
Bee selsSerare. |

E. 2025 mr68 er88a808° 900 DcH n0&d)ES
DIGPHT e BoErE IFOE ®oST 320d.

588 eTeD JoHEwED

(1) B,C&E &r@d *(2) A, B, C & D $r@d

(3) A, C,D &Em@jﬂaa, B,D & E $md

Which of the following were associated with
celebration of ‘Azadi Ka Amrit Mahotsav® ?

A. Aage Badho ~ B. Jan Bhagidari

C. JaiHo Tiranga D. Har Ghar Tiranga

E. Badhe Chalo

Choose the correct answer :

(1) BBD&Eonly (2) A,B,C,D&E

(3) AALB&Eonly .(4) A,C&Donly

& 800 BS° ‘werd = 0Hy8 HiFES’ 68508

Ddo20ko 61 ®oTen D ?
A.eRa® B. aSzrhoed C. 25 8dorr
D. 6 86 8%ore E. =836
Q0™ 23aTPLNND w0t Ros3m:
B,D&E&Srgad (2) A,B,C,D&E¢
3) A,B&E&SrEdh (4) A, C &D S
o
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137.

138.

Consider the following in relation to the Indian
companies in Fortune 500 List in 2022 :

A. A total of nine Indian companies have
entered the list.

B. Five of them are private sector and four
were state-owned firms.

C. Life Insurance Corporation of India (L1C)
entered for the first time.

D. Reliance Industries and Tata Group are
among the private firms. '

E. ONGC and BPCL are among the public

sector firms.
Choose the correct answer:
() A,B&Donly (2) A,B,C& D only
(3) A,C,D&Eonly(4) B,C&Eonly
2022 P8RS 500 oS’ dE Boes

Somobiod) & 8ob @ HorBotok:

A, & ders® 3ndo &b PEdH Solen
HIBoTeon.

B. 86° o @3&:: Boifo, Trentd Dghds ol
ﬁo&w,

C. o068 408 DS %oP (LIC) InsBIrd
D3BoDod. |

D. 0BouHS)B0udS, trtr (6 e RIS Soged®
Q%)00.

E. ONGC, BPCL e Hehsy SoX Soxed’
GRP0W.

58 e2arenid. doHE 50:
(1) A,B&DSm@d

(2) A,B,C&D&r@d
@ A, C,D & E $Smigidh
(4) B,C & E Sm&ad

Consider the following Padma Bhushan

Awardees of 2022, Which one of the pairs is |

NOT matched correctly ?

(1) Cyrus Poonawalla : Trade and Industry

(2) Victor Banerjee : Art

(3) Ghulam Nabi Azad : Public Affairs

(4) Krishna Ella and Suchitra Ella : Medicine
2022 $05) 25 o Hardod Sordotol. &

208 2806 B 285552800 HB?
(1) 28R Frdare : aredeso, DOV
¢ (2) EEBIQ:8Y
y 3) oo 58 ee : (e JgdSoren

3% e, SO e kg0

1
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139.

140.

Arrange the following countries from the highest
to lowest, based on their total medals tally at the
Commonwealth Games 2022 :

A. Canada B. England C. Australia

" D. New Zealand E. India

255 385 A% 20226° S RODE Twgo HEse
Sogg sersore, & 8ob Bevod DD Dol BIdD
APo0S esgol:

A. St B. sorrod
D. &m;@erol E. pSEaE0

Choose the correct answer:
DO earaid SothER e

%DB,A,C,D,E v () BC.RD,
E

C,B,AED (4) A,C.B,E,
What is “Exercise VINBAX 20227 7

C. &b

E
D

A. It is the 3" edition of Vietnam-India
bilateral army drill.

B. It is held at the Dalhousie Cantonment,
Himachal Pradesh.

C. It is held at the Chandi Mandir Military
Station, Haryana.

D. The last such drill was held in Vietnam in
2019.

E. The Exercise was focused on deployment

of army engineers and medical teams in
United Nations peacekesping operations.
Choose the correct answer:

(1) C & D only (2) A.B,C,D&E

(3) A,C,D&Eonly (4) A B&D only

“Da,§, e 20227 08 D€ ?

A. =b ke o-soddss 5 -5 DS Sare 35
LS. )

B. =8 drsS $88 &0 45D o' Rpowmd”
lafalelal

C. b Goy 650 Sof £088 owd ks
~latplelaB

D. 905638 20196° om0 serod Sordd
~lolplalaR

E. o¥oeidd o8 H0058 ségodrod’
wb) mozd8, 38; o crreid rFboltop &
Earh By SEotod.

38 exareni JohS i

(1) C & D &g (2) A,B,C,D&E
@A,C,D&Eéﬁpgﬁ: (4) A, B & D &r@d
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141.

142.

143.

Mexican President Andres Manuel Lopez
Obrador has proposed a three-men commission
for global peace to the United Nations
Organization, comprising of the following:
Ukraine President Volodymyr Zelensky
Indian Prime Minister Narendra Modi

South African President Cyril Ramaphosa
UN Secretary-General Antonio Guterres

E. Pope Francis

ONnw>

- Choose the correct answer :

(1) B,C & D only (2) A,B&Donly
(3) A,C&Eonly (4) B,D & E only
DEE wfHd w0l SPHDE '8 ers’s

B0 2208 §%%0 & 8ob Hwihth Hhe EDDS &
pEsorays H0A8 HBOIFBoTD:

A. 6ES 05 FBErE Fody

B. gr88 Hrrdshod $0o I8

C. 58nudhs b 0SS

D. 2¥5oreaiind B0 eSS sots* A 385
E. 9553005

S8R a0 o8 i ;

(1) B,C&D&»E (2) A, B & D &migsh

(3) A,C&E&»gd B, D & E S

Which of the following are the new Mandals declared
by the Government of Telangana in July, 2022 ?

A. Gundumal in Narayanpet

B. Gangadhara in Karimnagar

C. Dudyal in Vikarabad D. Zaffargadh in Jangoan
E. Saloora in Nizamabad

Choose the correct answer :

(1) B,D&E only (2) A,B,Cé&Donly
(3) A,C&Donly (4) A,C&Eonly

& 80B B8° Boorre Hebdo B 2022 &°

S HEBoDS Hokeren D ?

A. TTCHEDE 58D HotHSrsS

B. 5603456 6°Q Korers C. Jsvorers &% ey
D. 25 6°0 298 Hof E. derdrard 80 drems
5B 2232050 DoHE KoK

(1) BLD&E&SrEa (2) A,B,C&D&Emgd
(3) A, C & D &riad A, C & E o83

Which one of the following countries launched
gold coins named “Mosi-oa-Tunya” in a bid to
control the inflation ?

(1) SriLanka (2) Russia

(3) Pakistan (4) Zimbabwe
S50 WcH0B0B Hoheyos® & 8od BS° D

380 “Trd-2.0-HT5" ©F 2ol Tereih Dde
D206 ?

(1) Be0¥(2) 8aFs (3) &> Boerd
: s

37

144,

145,

Which of the following hospital gets ‘Kayakalpa
Award-2021" by securing first place in the area
hospitals category from the Union Ministry of
Health ? -

(1) Madhira Hospital

(2) Vemulawada Hospital

(3) Jinnaram Hospital

(4) Narayanpet Hospital

& 80d Sarprared® DB edHHe FHAOSE

S0t JoS® DY o 88°K; Ho@8; Tw Wos
‘srdbEe) @arh-2021 0 odS 8?2

(1) BB Sargrar
@ Fnears Sargrae
#(3) BGo dargrae

(4) oechHrad Saegrae

Malavath Pooma is a well-known mountaineer of
Telangana. She successfully climbed which of
the following mountain peak in June, 2022 ?

(D
2)

Mount Elbrus, the highest peak in Russia
Mount Akina, the highest mountain peak in
Japan

Mount Denali, the highest mountain peak of
North America

Mount Kilimanjaro, the highest mountain
peak in Africa

Derd8 g Boorrmrd BobS BHHE Het*ird.

@D 2~ 2022 & & 8ob HYH Bpored® BAD

3)

“4)

DachSodorr ©dEiroDod?

(1) Pof doph, s’ vdps ags’a 588
Bpto ‘

(2) BP0l o8, adrl 6°0 vdpd B85 DB
3o i

@ 5085 Bard, 488 obs 65D edd 235
588 Bwo i

(4) o8 8DHot:, BB 6% wios I35
B Bpo i i
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8923917
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146.

14?.

4)

Which of the following statements about Dr. K.
Keshavulu from Telangana are correct 7

A. He is the Managing Director of Telangana
State Seed Development Corporation (TSSDC).
B. He is the Director of Telangana State Seed
Organic Certification Authority (TSSOCA).

C. He has been elected as the President of

International Seed Testing Association (ISTA).
D. He is the first from any Asian country to
hold one of the top executive posts in ISTA.

E. He is a native of earstwhile Mahbubnagar
District.

Choose the correct answer:

(1) A,B&E only (2) A,B,C&Donly
3) A,C,D&Eonly (4 B,Cé&Donly
Boorsd D083 wr. B, Bdden HBods 20b

BELSE® DB ¥BK6?

A. 855 Boorrer oo I8N ©hB)H SEHBRS
(TSSDC) 33#0R 3856.

B. z8% Seorrer o°F S5 Dodch HREYe
w08 (TSSOCA) §3%5.

C. usH wosrbod D85 985 Soo (ISTA)
DA B, :

D. sddr devo Dol ISTA & a¥ eHbs
o8 ATsEE HEDS® &) T 8.

E. 285 3 HirardSnd aer arkd.

50 2370208 JOTHEHw:

(1) A,B&ES»ED (2)A, B, C&Dirgd

(3) A, C,D & E&miEd (4) B, C & D S8

“Gandhari Vanam” got renovated recently under

Telanganaku Haritha Haram Programme and

developed into a tourist attraction. Where is 1t

located ? '

(1) Gangadhara Mandal, Karimhagar District

2

(3)

Vikarabad District

Keesara Mandal, Medchal-Malkajgiri District
Bokkalagutta, = Mandamarri  Mandal,
Manchiryal District

“rrogrd So” Bworrn B8 Flo seUyEN0

8off alSo PSHEBoNDE, Loows 6w

0850 Boduldod. 8 KK aH07

(1) meolges Soteo, 880dKE Bep.

(2) DoorHBdino, arotird Hokeo, Iscorerd
Bep.

(3) &8 Sootsoo, HisyS -soemS AB Bep.

EG 010k, $H0EHO H0K00, HodoyS dep.

Chintamanipatnam, Tandur Mandal of -

148.

149.

150.

Which of the following countries formed the

group known as BASIC 7

(1) Brazil, Argentina, South Africa, India and
Chile

(2) Afghanistan, South Africa, India and
Columbia

(3) Brazil, South Africa, India and China

(4) Brazil, Argentina, South Africa, India and
Canada
& 8o >86° H1E (BASIC) 3eeen ©d hodad

B0 DOm0 BHHD DD?
(1) @28, ©Zofirr, 58m 8dse, FEEBHo, DD
(2) SR, B vds, PEEET0, Fooddir

@ BES, 586 edse, rEEdEo, T
v(4) @295, EJEJ'-DESEF, 580 ods, B85350, 35T

The official mandate of the IMF includes :

A. To promote international monetary cooperation.

B. To promote exchange stability.

C. To eliminate foreign exchange restrictions.

D. To provide long-term loans for the projects.

E. To facilitate the expamsion and balanced
growth of international trade.

Choose the correct answer:

(1) AB,C,D&E (2) A B&Donly

(3) A,B,C&Eonly (4) C,D&E only

IMF ©55°6% et en /ogren:

©OoBTAUD s SirseorRy &8 2roo.
SPEE DY D58 SrosEo.

QBB SeBE 1555 HOMeHed FohoSKo.
B%H0% BYsDE teren 55:%0.
Hﬁﬁﬂzgcﬁl Treday 06, %ﬁjﬂﬁ D)8
Sedfsto Dabilo.

20 asaranid 2oHE Rew:

(1) A,B,C,D&E #(2) A,B&D i

moow»

@A, B, C & E&m#® (4) C,D & E &misd
soldiers on the battlefield, and was later amended to
cover warfare at sea and prisoners of war ?

(2) Rome Protocols

(3) Nuremburg Conventions

& B0b B8 08 GEFore g WS
rabBES pI%e SoEnd adlosal, $thard
H58e Dohadod ?

(1) ecdS@e’=S (2) 55 @ e,

Which of the following was caring for the wounded
(1) London Protocols _—-

(4) Geneva Conventions

o0s® S autgo, ang Ble sosel BHsE
(3) $»Bond SIS 255 6355,
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11,

12,

15,

14,

16.
17.

18.

19.

. {vi}

Mark your Hall Ticket No. as given in the Hall Ticket
with Blue/Black Ball Point Pen by darkening
appropriate circles in side 1 of the OMR Answer Sheet.
Incorrect/not encoding will lead to invalidation of
your Answer Sheet.

Example: If the Hall Ticket No. is 1309102001, fill as

shown below :

£
7
i
z
d
i

E
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clcolelolelel tolail]
iciclclolcioleloin)
L lclelolciclelole]
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iolclsloliciclel Jo) il
icloleioleiclelole) L
clcleiclelclel=lsl i
clcielololalelol Ji

®
®
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®
®
@
®
@
7
®

Get the signature of the invigilator affixed in the space
provided in the Answer Sheet. An Answer Sheet
without the signature of the Invigilator will be
invalidated. Candidate should sign in the space
provided in the OMR Answer Sheet.

Rough work should be done only in the space provided for
that purpose in the Question Paper Bookiet. No other loose
sheet of paper will be allowed into the Examination hall.
Do not mark answer choices on the Question Bookiet.
Violation of this will be viewed seriously.

In case of any discrepancy between English and
Telugu/Urdu Versions of the questions (in Bilingual Paper),
English Version of the question shall be treated as final.
Use of Calculators, Mathematical Tables, Log Books,
Pagers, Cell Phones or any other electronic gadgets is
strictly prohibited. .

The candidate should write the Booklet Number and Sign
in the space provided in the Nominai Rolls while ensuring
the Bio-data printed agzinst his/her name is correct.

No candidate should leave the examination hall until
completion of examination time.

Before leaving the examination hall, the candidate should
hand over the OMR Answer Sheet to the Invigilator, failing
which action will be'taken for malpractice.

Candidates are permittéd to take away the Question
Paper with them after completion of the exam.

The OMR Answer Sheet will be invalidated, if the candidate:
(i) writes the Hall Ticket No. in any other place of
OMR sheet, exceptin the space provided for the
purpose.

writes irrelevant matter, including the religious

(ii) .
symbols, words, prayers or any ccmmunication

whatsoever, in any place of the OMR Answer Sheet. |

uses other than Blue/Black Ball Point Pen to
darken the circies. : ,

forgets to bubble the Test Booklet number or
bubble multiple circles in a row while filling the
Test Booklet No. or bubble Hall Ticket No. other
than allotted to him/her.

resorts to wrong / erroneous / incomplete
bubbling of circles or using ¥ or x in the circles.
uses whitener on the Answer Sheet.

attempts any type of tampering (rubbing the
circles with chalk powder/scratching the circles
with razors etc.) on the OMR Answer Sheet.

(viii) adopts any method of malpractice.

No correspondence will be entertained in this matter by
the Commission, if the Answer Sheet is invalidated or
his/her candidature is rejected due to the above reasons.
The digital copy of OMR Answer Sheets will be made
available in the Commission’s website after
completion of the Image Scanning.

(iii)
(iv)

(v)

(vii)

40

10.
11

12.

14

15.

16.
17.

18.

19.

154
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Hifo Syrersosdo Dahetisd.
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OMR e85 S8 06° Bhronols Hioos® S5Rerr Sosto UairD.
S, Higo & &moﬂﬁi;mﬁza’:nﬁﬂ@iﬁ Schiak. B
KBE™E e Figo Srer GEdih) $0 alisTerm s bihaniend.
S SErostirrrob Hi b SSarStridand.
£ wPap e 380 065 BOAR S b Beard/adkz SN Kot
Do ol solEi & exP solitorr Sardiolnibob.
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Srd AR S0 0 BABiSh,
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o 3550 B DS IO R ST S0 pU oS,
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S By )35 5yt DORRSE, €2 S8 Sranol
S5 B B T BGp / e Sore Dobss* B8
v S x 508 150 Symes® A,
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SRS Do P Syoredr o8 5% B & Gisko, 35 &°
Aabtao So8 SE0% Fodstond
(vill) D DEPS S8 GE5 Sk OdeoDodED,
2 D SERoSOTSEr eiho Gul) SEree HEro Swrerosido
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